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Accounting Discipline Overview 4sulaall e ale JSay 3 ki
Z Financial accounting-focuses on reporting to external users including investors, creditors, banks,
suppliers, and governmental agencies. Financial statements must be based on GAAP.
VS 5l 5y sall 5 @ i) g a5 o paivaall I3 6 Lay Gaan JAY Gpeddivaall )y )& a0 e 38 55 - dllal) dplaall
Lo gee A i) dpulaall (oabe () ALl L aiis () g Ape sSal)
7 Management accounting- measures, analyzes, and reports financial and nonfinancial information to
help managers make decisions to fulfill organizational goals. Management accounting need not be
GAAP compliant. (Internal Users)
Calaal) sl el ) al Aas e oy el sacluad AW e 5 Al e slaall (e adi s o s iy A Y1 dpadacall
(OAAIA Cppadiivuall) (GAAP pe 438 sl 4y oY) Asalaal) 0583 ) o 5L Y Aedail)

Accounting systems are used to record economic events and transactions such as sales and the
purchases of materials and then process the data into a format that is helpful for managers and others.

e J<G 8 ) dallas &5 o) sall il i s Clagaal) Jie alaV) EBlalaal) 5 Claa¥) Qe adtind Lolacal) dalsf

R e 5 (el
Management accounting is the process of measuring, analyzing and reporting financial and nonfinancial
information that helps managers make decisions.

)l Ma3 e e paall aelad 3 AL e ALl e shel) e § 515 il s el Ailee o A oY) Lpalaal)
Financial accounting has a focus on the financial information that is disseminated to external parties
such as investors, government agencies, banks and suppliers.

@l il 5 dpa sSal) g 5 paiosall o A Hla Calphal ) W i 5 ) ALl ol sleal) e 5S35 Adlal) dglaall
sl
7 Cost accounting — Sl duulaa
B measures, analyzes and reports financial and nonfinancial information related to the costs
of acquiring or using resources in an organization.
Aadaiall b3l sl aladind 5 e J geanll GRS dalaiall Ll e 5 ALl e slaall G iy s Jlag s Guily
®m  Supports both financial accounting and management accounting. Examples:
PAfa) A )Y Al 5 L) Al e SIS aey
O Financial Accounting: Cost per unit is used to calculate C.G.S (I/S) and ending
inventory (B/S).
(B/S) Lsaall sledl s C.G.S (1/S) luaad saa g JSTAGISH alasind) 2 rdallal) dpsanall
Colal ¢ 2 4 1 Cuana il ¢ 2+ 1 oS e Wal daulaal o sa; Ledde AT Jl
O Management Accounting: Cost per unit is used in pricing decisions.
wetl] Cl ) B 8 Bas g JSUAAISH) Aladin) S5 Ay ) dsadacal)
( Department, CFO, CEO Jis) iYW (s siall e juasiy Lellia
Cost accounting provides information for both management and financial accounting professionals has
its focus on the costs of acquiring or using resources in the organization.
o Lealazid 5l 3l all Gle Jpemal) llSS e S 5 Fllall 5 G la¥) Apdaall 3 jine (e JS) e slea (oISl dpulaa 58

.“” j- . X\
Note: As a reminder, the financial statements contain: S 5580 Adlal) ad) g8 psill sAladla
1. Income Statement (1/S) Jaal ol
2. Owners' Equity (O/E) Aslal) (3 58a
3. Balance Sheet (B/S) Gaa gand) 40 30all
4. Cash Flow (SCFs) il gl
5. Note Disclosure(N/D)  <lblul e zLady)
Note: C.G.S is Cost of Goods Sold 4sluall ailiad) 44 4 dkaadla
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Major differences between management and financial accounting
Atlall g 4 0ay) Aslanall (s A 1) cABDEAY)

Purpose of
information

Slaglzall e (Al

Primary users
gl ¢ gaddiiuall

Focus and emphasis

S Al
Rules of
measurement and
reporting

g1 5 (uabidl) a0 g8

Time span and type of
reports
) g e 30 5 )

Behavioral
implications
A gludl Y

Management Accounting 4_13Y) Asulaal)
Help managers make decisions to fulfill an
organization’s goals
calaal (gaanl el )l M) e o jaal) sacbie
Aadaidl)

Managers of the organization
w\ jﬁh

Future-oriented (budget for 2014 prepared
in 2013)

(2013 b el 2014 4 jua) Jiivaall gai 4 50
internal measures and reports do not have
to follow GAAP but are based on cost-
benefit analysis

el Judas ) asied LSl L gee Al gaall dudadl)
silall g
Varies from hourly information to 15 to 20
years, with financial and nonfinancial reports
on products, departments, territories, and
strategies
cLle 20 )15 ) dele JS cleslad) (pe calidy
ay s clatiall Jss ALl e 5 ALl &l as
i) i) 5 alEY)
Designed to influence the behavior of
managers and other employees

AT Gl sl o el gl e 8l deaas

Value Chain Analysis el Al Jalas
Z The Value Chain is the sequence of business functions in which a product is made progressively

more useful to customers.
e S o Deall 3l ST pitiall L ey Al Jasd) il g Judisi o dagll) Al

The Value chain consists of:

O i) Ao o o835

Financial Accounting 4dtal) daulaall
Communicate an organization’s financial
position to investors, banks, regulators, and
other outside parties
gl s 5l 5 0 el s sl ILal) S5l 3
G AV daa jlal) Gl Y daaail)
External users such as investors, banks,
regulators, and suppliers
Opalaiall 5 @ i) 5 paisall Jia () s JAD) () geadinsall
sl 5
Past-oriented (reports on 2013 performance
prepared in 2014)
(2014 & el 2013 o)l ey )lE) aiall alall
Financial statements must be prepared in
accordance with GAAP and be certified by
external, independent auditors
Landaal) {galual 88 5 Al bl slac) &5 o) sy
G A (e J (e Baaine (585 Ol 5 Le e A gl
Cliine 5
Annual and quarterly financial reports,
primarily on the company as a whole
A8 ce ol S8 ¢ i 5 A s Alle S
J<

Primarily reports economic events but also
influences behavior because manager’s
compensation is often based on reported
financial results
LSl 5 Apalai®) Slaall (e ¢ DYWL bl (S o 5
iy Lo Ul paall (i g Y bl e Uil i
Lie ddaall ALl i) e

1. Research & development (generating and experimenting with ideas related to new
products, services or processes)
(L yads saall cilileal) 5 cilaaall 5l cilaiially dilaiall HISEY) 2 55) g ghall g Caal
2. Design of Products and Processes (detailed planning, engineering and testing of products
and processes)

(lleal) g clainall Ll s digl s Luadill byhail) cdpleal) g ciladial) asani
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3. Production (procuring, transporting and storing, coordinating and assembling resources
to produce a product or deliver a service)
(Aadd wai 5l it LY 3l sall aani's Ganaily (a5 Jiig o) ) gAY
4. Marketing (promoting and selling products or services)
(Sleaal) 5 claiall aus e 53) (gl
5. Distribution (processing orders and shipping products or services to customers)
(Pl clesall o claiiall oy llhall dadlas) il
6. Customer service (providing after-sales service to customers)
(LU anll 2a Lo daxd ) by 311 dadd

Here we have a pictorial view of the value chain. In addition to each of our functions previously
discussed, you see “administration” as an additional function. This includes accounting, human
resources, information technology and supports the six primary business functions.
Adlial Aads 5 Y1 (5 55 ¢ Bl Ll coa 3 Ll g (e Aada g JS (1) ASLaYL Al ALudid 6 5 s 55, in Ll
ol Al Jlae 9 il g ae 5 o slaall Lia o635 5 2 il gl sall 5 Aol Jady 138
Management accounting provides information to inform each of these functions in the value chain
el Al 3 Cailla gl o3 pa JS 30 e shes Ay oY) dsdad) i i

Administration 3_jaY)

Research
and Marketing Distribution
Development
jﬁlJ dag @bl § @ladiadl Pev Em} g ﬁlﬁ i Jasd

Additional Question 4:éLaYy) 4liY)
Q1: Circle the correct answer
1) Management accounting:
A) focuses on estimating future revenues, costs, and other measures to forecast activities and
their results
B) provides information about the company as a whole
C) reports information that has occurred in the past that is verifiable and reliable
D) provides information that is generally available only on a quarterly or annual basis
2) Financial accounting:
A) focuses on the future and includes activities such as preparing next year's operating budget
B) must comply with GAAP (generally accepted accounting principles)
C) reports include detailed information on the various operating segments of the business such as
product lines or departments
D) is prepared for the use of department heads and other employees
3) Which of the following statements refers to management accounting information?
A) There are no regulations governing the reports.
B) The reports are generally delayed and historical.
C) The audience tends to be stockholders, creditors, and tax authorities.
D) It primarily measures and records business transactions.
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4) Cost accounting:
A) provides information on the efficiency of factory labor
B) provides information on the cost of servicing commercial customers
C) provides information on the performance of an operating division
D) All of these answers are correct.

5) Which of the following types of information are used in management accounting?
A) financial information
B) nonfinancial information
C) information focused on the long term
D) All of these answers are correct

6) Management accounting includes all of the following EXCEPT
A) implementing strategies
B) developing budgets
C) preparing special studies and forecasts
D) preparing the statement of cash flows

7) is the generation of, and experimentation with, ideas related to new products, services,
or processes.
A) Research and development
B) Design of products, services, or processes
C) Production
D) Marketing

8) is the acquisition, coordination, and assembly of resources to produce a product or
deliver a service.
A) Research and development
B) Customer service
C) Production
D) Marketing

9) is the after-sale support provided to customers.
A) Distribution
B) Customer service
C) Production
D) Marketing

10) Cost accounting provides all of the following EXCEPT:
A) information for management accounting and financial accounting
B) pricing information from marketing studies
C) financial information regarding the cost of acquiring resources
D) nonfinancial information regarding the cost of operational efficiencies

Q2: Indicate whether each of the following statements is true or false.

False 1. Management accounting information focuses on external reporting.

True 2. The balance sheet, income statement, and statement of cash flows are used for financial
accounting, and also for management accounting.

False 3. The supply chain refers to the sequence of business functions in which customer usefulness
is added to products or services.

False 4 Distribution refers to promoting and selling products or services to customers or prospective

customers
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False 5. Value chain refers to its value to the employee.

Q3: Classify each cost item of Ripon Printers into one of the business functions of the value chain,
either (1) R&D, (2) design, (3) production, (4) marketing, (5) distribution, or (6) customer service.
¢ ppanail) (2) ¢ pshilly Gl (1) L) ¢ dagill Aol Jlas ¥ il g s3a) ) Ripon gl A4S juaie (S ciyiuaty o8
b3l dass (6) 5f s (5) ¢ Grond) (4) < SV (3)
Item:
a. cost of customer order forms Ol lls el A3l

c. cost of paper used in packing cartons to ship books i€l il il KU A A aodiieal) (5 ) ) A6l
d. cost of paper used in display at national trade show
il (5l (b i el B pasiall (5 ) S
e. depreciation of trucks used to transport books to college bookstores
2K i ) i€l i Aaakiunal) ilia L eDgial
cost of the wood used to manufacture paper Gul deliia A padiuall A AASS
g. salary of the scientists attempting to find another source of printing ink
AeLhall jad AT jaas ala) Gl slag 0l slalall il
h. cost of defining the book size so that a standard-sized box is filled to capacity
Answer:
a. (4) marketing

(5) distribution

(4) marketing

(5) distribution

(3) production

(1) research and development
(2) design

END OF CHAPTER 1
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An Introduction to Cost
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Basic Cost Terminology 4swluy) 4l clalthas

Z Cost—a sacrificed or forgone resource to achieve a specific objective.
(AU LA A8l Gl L e AR U Fay ) oase cann gaiadl aie LA 5 gl 4 Dl 5 ) se - QNS

Z Actual cost—a cost that has occurred Ciaa 4al<H - Agledl) d4tCEY)
7 Budgeted cost—a predicted cost. (Not happened) el gia F8IS3 - 450 Jaal) 8 Ax jaal) AQLSH)
(e 5ia) Jin 10 GLaS 3l (53 25, Ll o (Baled) Foaall g (ool Ghiic Jisd 10 o Coma U Sbin

Z Cost object—anything for which a cost measurement is desired.
L S Y SS S suae Ao ¢b b AAISH dgle a5 () ) Al ARISE) (8 Cogllae o 5 gl - ARl (ilg
®  Product: BMW X6 6 oS sb ol o il JEal) o e
Department: Assembly il / el cacal)

®m  Project: R&D project on DVD system enhancement in BMW cars
BMW <l jlws (8 DVD alai Cppaay (il s skaill g Sasll & g e 1 g pal)
Note: Managers use cost information in two main ways: when MAKING decisions and when
IMPLEMENTING decisions
) a3 wie g <l ) Al MAS) die i ) (s ylay AAKHL il slaa (5 paall aadin
Here, we have some additional terminology: 4élay) cilalhuaal) (e Ll ¢ Lia
®  Cost accumulation—a collection of cost data in an organized way by means of an accounting system
Lnlae ol (51 )k (e dalaie 43y ylay L) ULy (e de gana = ARSI aS) 53
®m  Cost assignment—a general term that encompasses the gathering of accumulated costs to a cost
object in two ways:

s s S5 S 1) aS1 il Gl aand Jay ple elawas - AAISTH (ppnd

Z Tracing accumulated costs with a direct relationship to the cost object
IS (HISy 5 il A0l A iall CASEY Al
Z Allocating accumulated costs with an indirect relationship to a cost object

LS IS et e e A8ley AaS) fiall CAIST anads
Direct and Indirect Costs 5 <l € g 5 jdilaal) cillesl)
7 Direct costs 5 slall caylisil)
B can be conveniently and economically traced (tracked) to a cost object.
(ZY) ba Caden uaall dde 4S5 U Qs o) AGISH SIST (4gad) salaii) 5 2i5he S 4niii Sy
7 Indirect costs 5 dla & il
B cannot be conveniently or economically traced (tracked) to a cost object.
(ZLsY) Jadd a5 JSS wivadll ol oS i) 285 ST (gola) ol 20 JSy (4giad) 4l oSy Y
B |nstead of being traced, these costs are allocated to a cost object in a rational and
systematic manner.
Apngia s dilaie 48 play AAKH (A ClSE 038 anadld ai ¢ Leaddi 0o Y
The salary of a plant administrator at BMW, as an example, is an indirect cost of a particular automobile
because unlike the steel or tires used, it is virtually impossible to trace plant administration to a
particular car line.
Y sl W e (e Y A s jlud 50l e ASE 5 ¢ Jhal) Qa2 ¢ BMW (2 gamnall J g msa i)
Lo 3k Tl aiiaall 3 la) i il (e (5585 IS ¢ Aaadial)

‘TYPE OF COST COST ASSIGNMENT COST OBJECT
Adlsdll £ of 2

: eSS ade ey A il
E ]]'ie' Cost of i Bl Cost Tracing 4aiil| s
andtresforthe based on material -
10 -f-f.#“ = :g'h requisition document
i L 2 sal) ks Ty e sl Example: BMW X6
5 il Ak o
Indirect Costz- > ‘F Tl gl al ot Jla
Example: Lease cost for _
Spartanburg plant where Cost Allocation 43IS3 (avads
BMW makes the X6 and —
other models of cars no requisition document

. ol i3y 30 Y
a5 10 e il a1 IS g T R
wlibudl e oAl gilais X6 3B BMW
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Cost Examples <ilsill o At
Z Direct Costs 5 sluall cidlsil)

®  Parts (steel or tires for a car, as an example) (JEaS ¢ 3l il ) o 3V ) e adad

®  Assembly line wages el i sa]
Z Indirect Costs B dia il Cillsil)

®  Electricity AERVIN|

= Rent Suals

B Property taxes A all il yuall

®  Plant administration expenses —auadl 3l (i jlas
Note of the example Costs: ALYl (e cllaadle
One way to think about this is that association between the direct costs and the specific request for
those items in the production process. We need 4 tires and x |bs of steel for each car, but we don’t
requisition some number of hours of administration time or rent for each car or for the line.
4 ) gliss ZY) Abee 8 jealinl) Gl saa ) QL) 58 plaal) CRISEN (o TG Y) 138 (Sl (3ol (san] i
LAl o5 b JSU ey ol s lay) cilebu (e 13ae callad Y LSST ¢ 3 5l JSTAY g8 (o x g <l )
[XI Managers are generally more confident about the accuracy of the direct costs of cost objects.
Aalall aluaY 5 i) cadlsall 48y (i 48 ST Hle JS o )

Factors Affecting Direct/Indirect Cost Classification 3 dibuall jf [ 3 pdlaall A81CH) (it 35 figall Jal gal)
% The materiality of the cost in question (the smaller the cost, the less likely it will be efficient to
trace the cost)
(Ve 28K w68 o Jlaial 8 ¢ 281K 8 LalS) Aviacal) ARICN Apaall) Aandy)
«5 The available information-gathering technology (technology allows us to treat more and more
costs as direct)
(5 50 Ll e CallSll (a3l s 5l o Ll L 51 iS50 L) ) Aaliall i glnall gean L 3 535
% Design of operations (if parts of a facility are dedicated to a particular cost object, we are
generally able to classify more costs as direct)
Sl ey all Gl e ale JSy (5508 ad ¢ e A8 ST dianadie sl (e o) Jal alS 13)) ciblaad) avenal
(308l &l e
NOTE: a specific cost may be both a direct cost of one cost object and an indirect cost of another cost
object.
A AaK DB il e AASS g aa) g A8 KT S phlie A8IST e 5 e Badaal) SISl oS5 28 1Aaada
(JalS iad S 13 5 5l e 05S5 5 a2 LY Jadl 5 pilue ol jSH AGKE ) o5 08 1 Jial) Jaseu e
For example, the salary of an assembly department supervisor at BMW is a direct cost if the cost object
is the assembly department.
oaaill ad g A IS S 1) 3 il A8KE BMW (o8 aanl) and o i il iy ¢ JEal) Ju Ao

Cost Behavior 4dlsil) & glu

Z Variable costs—change in total in proportion to changes in the related level of activity or
volume of output produced.
il 2y aas o ALall (o3 JaLail) (5 sise 8 ) janil) e onlihy Loy g samall 3 il - B el il
Z Fixed costs—remain unchanged in total, for a given time period, despite changes in the related
level of activity or volume of output produced.
pan ol Alal) (53 Ll (5 shuse 8 il (e o Sl e ¢ Aisma Fia 3 5l ¢ g sanall B i (0 Ul - AR sl
i) Ly
Z Costs are fixed or variable only with respect to a specific activity or a given time period.
Al dgia 3 ) G Tl (3ley Lo ol 5 jria ) 450 Callil)
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When considering variable and fixed costs, it is very important to know if you are looking at the cost IN
TOTAL or PER UNIT.
AN e ) 4SS (e Cani i€ 13 Lo A jma 13n pgal) e ¢ AR 5 5 i) CallSall 8 Sl die
Z Variable costs are constant on a per-unit basis. If a product takes 5 pounds of materials each, it
stays the same per unit regardless if one, ten, or a thousand units are produced.
Dbl (s san 5 S s LeS g 0l ¢ Lagia JSU ol sall (e JUa i 5 e e 220 13 3as 5 JS Gl e 2505 5 pdial) cagdisaly
san gl g5k sas ) 411 Lae
Z Fixed costs per unit change inversely with the level of production. As more units are produced,
the same fixed cost is spread over more and more units, reducing the cost per unit.
25l e A5G 4K i a3 58 Al ¢ Clas sl e el ) ae 2 BY) (5 sie ae LinSe s sas 5 JSI AN Gl
aa g JST AalKil) JU6 Lae ¢ colas gl e 2 3l
Cost Behavior Summarized 44 & glu (o dls
Total Dollars "4&lsili” §$ Maa)  Cost Per Unit 339 J<d 4ddlsil)
Variable Costs 8_#iall LSSl | Change in proportion with output | Unchanged in relation to Output
2 g oty Ly il 2V AN Gl i 53
More output = More cost
S (o 3 all = Y (e all
Fixed Costs 440 ddsall  Unchanged in relation to output Change inversely with output
g AN Ay s 50 T AY o bnSe s
More output = lower cost per unit
Bas 5 JSI 8 4815 = 2Ly e 3y 3all

Graphs of variable and fixed costs 4Ll g 5 el CaMSEl Al o gas )

PANEL A: Variable Cost of Steering Wheels PANEL B: Supervision Costs for the BMW X6
at 5§60 per BMW X& Assembled assembly line (in millions)

= $2,000,000 + 33 —

E p

B H

> $1,500,000 1 &

£ s 2

g =

& $1,000,000 g

Z i 51+

& $500,000 =

B ]

s o+ 50 e
] 1,000 2,000 3,000 4,000 0 20,000 40,000 60,000

Number of X6s Assembled Number of X6s Assembled

5 In these charts, we see the graphs for variable and fixed costs using the number of steering
wheels for the BMW X6.
BMW X6 3k 2Lall O3lae dae aladiuly AGU 5 5 paiall CadlSill Aball & g 1) (555 ¢ Aiball & gus )l 238 3
o6 Panel A shows a graph of the total variable cost of steering wheels. The cost begins at zero
because if we make no X6s, we'll incur no cost for the steering wheels.
daai Gl ¢ X6 s gnaai ol 13) Y jiall (e 48K fag 3aball O laad 5 paciall 48K JlaaY il s ) A G sll) (2 a3
ol Clae e 435
« Fixed Costs are presented in Panel B where we have a line across at the $2,000,000 mark. The
Annual total fixed supervision costs for the X6 are that amount and will be that amount whether
we assemble zero, 20,000, 40,000 or 60,000 cars.
3 o shaadl ) Cal iy Callss eal . 5Y 52 200004000 edle e bk lal G () Al 8 A4 CallSal) (i e oy
5w 60.000 5 40.000 5 20.000 sl sia ety Uiad ol g aliall 138 (35S0 5 il 18 58 X6

A Cost Caveat 4dlil) (ja pias
Z Unit costs should be used cautiously. Because unit costs change with a different level of output
or volume, it may be more prudent to base decisions on a total cost basis.

|Page3

S-RUB.com Upioaded By anonymous




CH2 - ACCT335 (COST) uasili
e (pdll slua

) AaSal) (ga (95 28 ¢ anall 5l LY (e Calide (5 gluay ua Baa gl GBS Y 13BT H0a Bas o) (RIS aladi sy
Adlaay Aassl) il e cl )&

®m  Unit costs that include fixed costs should always reference a given level of output or activity.
Ll s Z LY e Gane (5 sie () LR A3 oIS et A s o) CallSS 5l ) g

Unit costs are also called average costs. ol Jaus gia U 3as 1) CallSS e
®  Managers should think in terms of total costs rather than unit costs for many decisions.

A e el Bas o) oSS (e Y Adlaa ) oSl Cun (ge uSEl o el e cang
Uaa Ay Misleading 2 i) Laiil

Other Cost Concepts s AY) A4S anlia
7 Cost driver— A&l il
®  avariable, such as the level of activity or volume, that causally affects costs over a given
time span.
(Gansall) Aisas dia 33 58 DA CadlSll e L St ¢ aaall o) Ll 5 sies Jie ¢ Factor/element sais
®  Examples. designing products, setting up machines, or testing products.
cclatial laal o YY) S gl clatiall apaai ALl

7 Relevant range— byl 48Ul
®  the band or range of normal activity level (or volume) in which there is a specific
relationship between the level of activity (or volume) and the cost in question.
i) A8 5 (anad) of) B (5 e (g Ba2ae Ao 48 2a g A1 (paall ) (galad) Laliall (5 st (GUaill f gLl
®  For example, fixed costs are considered fixed only within the relevant range.
Apaliny) ddUal) 8 Jass Al Al il st ¢ JUal) Jpea e

Multiple Classifications of Costs <illSill sasia Cildyial

Z Costs may be classified as: A sadl) Jo @l Calal (S
®m  Direct/Indirect bl e [ pSla
®  Variable/Fixed Cli [ patia

7 These multiple classifications give rise to important cost combinations:
thagee AAIS e gana ) Basial) cilipiall) sda a5

B Direct and variable axda g pailae
B Direct and fixed iy il
®  |ndirect and variable _wsies jils e
B |ndirect and fixed Gl pile e

Examples of the Multiple Classifications of Costs <adl<ill sasmial) clidalll o 4L

Assignment of Costs to Cost Object
Al opild Calesl) ¢pums

Direct Costs 5 _iluall caulsil) Indirect Costs 8 ilia il il
Cost Variable | Cost object: BMW X6s produced Cost object: BMW X6s produced
Behavior Costs Example: Tires used in assembly of Example: Power costs at Spartanburg plant.
Pattern il qutomobile Power usage is metered only to the plant,
& sl Jaad Sudtall |l ) ead 3 deadiidl ) jY) iJEa | where multiple products are assembled.
ity asiul (b S & ) sl piiae & A CadlS 1 Ui
Fixed Cost object: BMW X6s produced Cost object: BMW X6s produced
Costs Example: Salary of supervisor on Example: Annual lease costs at Spartanburg
alsll | BMW X6 assembly line plant. Lease is for whole plant, where multiple
LU BMW aesibad e il il il | products are produced.
X6
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A g sl jls plias (84 sind) gl Callss ;G
clatiall e el U)o Cas ¢ aleSh piadll gy
Different Types of Firms 4dlidal) cils &) g 5l
Z Service-sector companies provide services (intangible products) like legal advice or audits.
"ol gl Cllee ) A gl ol LY e (s sale e Ciladia) hledd a0 Cilasdd) pUad S
Z Merchandising-sector companies purchase and then sell tangible products without changing
their basic form. (Finished Costs)
(A .. el Bl 1" L) LSS a2 A salall el Bl g Uab el i
Z Manufacturing-sector companies purchase materials and components and convert them into
finished products.

(E) ... el ¢ ganal) die) gl el cilaiie ) Ll g5 i oSl g o) sall o)y o 55 porieal] gl S 1

Types of inventories (33l g1l
Z Direct materials (DM)—resources in-stock and available for use
212350 Aabiall 5 ¢ 5a) 8 83 g sall 3 ) sall - 3 byl 31 gal)
7 Work-in-process (or progress) (WIP)—products started but not yet completed, often
abbreviated as WIP
WIP S L jlaial ity Lo Wle 5 ¢ any Jai€i ol L€ oy 3 colainal) - (A5 38 o) Jadal) a8
Z2 Finished goods (F.G)—products completed and ready for sale
"@euz)mt;wu; L caelil Le oSl 3 ala ™ @gﬂ'sjml;jmgl;ﬁ,q- M\Lﬁ@b&g
Note: Merchandising-sector companies hold only one type of inventory: merchandise inventory
) ¢y 538 105 3l (y La Vi) 5 o 55 5 il e S 5 olli :Alhadha

Commonly used classifications of manufacturing costs gsiuaill CallSil aladiu) daildl) cilisiual)
Z Also known as inventoriable costs ol ALY CESl) anly Uyl i o
®  Direct materials—acquisition costs of all materials that will become part of the cost object.
AR IS e 16 oo A 3 sal) qan L) (oSS - B puibpal) ) gl
®  Direct labor—compensation of all manufacturing labor that can be traced to the cost object.
A S ) Lgela ) ey ) Apncl Allanll e (s 503 - 8yl Allanl
®  Indirect manufacturing—factory costs that are not traceable to the product in an
economically feasible way. (MOH)
o) dpae 3y inall Ua g e (S Y () iemal) (RIS - piial) i el
» Examples include lubricants, indirect manufacturing labor, utilities, and supplies.
LlalaeYl g ¢ 3 pall g 5 pilaad) e Apeluall Alaall s ¢ aall ) g0 ALY Jadis
» Called Manufacturing Overhead (MOH). toiait! dalal) cilddil) oy
Inventoriable costs vs. period costs 3 _idll CilSi Jilha 3 ot ALLEY il
Z Inventoriable costs are all costs of a product that are considered assets in a company’s balance
sheet when the costs are incurred and that are expensed as cost of goods sold only when the
product is sold. For manufacturing companies, gall manufacturing costs are inventoriable costs.
Lelusial oy il 5 oISl A5 xie 4S5l da el Al Jaal) 8 Y geal yiad ) i) CallSS aaan 4 3 adl ALY Cilsal)
- A2 el ALE CllSs i) CallSS gaan piad ¢ aieal) S A Al peial) gy e Jad Ao Luall aludl A3l
Z Period costs are all costs in the income statement other than cost of goods sold. They are
treated as expenses of the accounting period in which they are incurred.
i Aladll 5 jidl) b g juaeS Lgilalas ot Aeluall wiliad) 465 Gy Jaall (ol 8 53,)) ol CallSall waen s Bl s
RVRCRESES
Cost Flows 4dl<il) cisda
Z The Cost of Goods Manufactured and the Cost of Goods Sold section of the Income Statement

are accounting representations of the actual flow of costs through a production system.
Y aUas JOA (e callill Ladl) 53l dpnidae Bl JAal Ol (8 delall ailiadl 48K5 5 daiiaall alul) 485 and Jiag
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®  Note how inventoriable costs to through the balance sheet accounts of work-in-process and

finished goods inventory before entering the cost of goods sold in the income statement.
Al il ()5 5an 5 el 8 Jaall A pasd) i) paal) il O (o 2 yall AL IS ) J pums)) (Sar oS J5aY

3 s e luall gl 405 Q8] J sl

DM INV.
Begning Balance
Purchases DM USED
WIPInv F.GInv C.GS
Ending Balance| Begning Balance Begning Balance
DL /W.P GCM— — X C.C.S——
X Ending Balance Ending Balance
MOH
X
(Busall s £) Dlia 21 23w 5 22
DM INV.
11,000
73,000 | 76,000
WIPInv F.G Inv CGsS
73,000 6,000 22,000
76,000 104,000 — —— 108,000 ————
DL/WP 9.0001777 104,000 | 108,000
20,000
7,000 18,000

000 /{:‘[>
MOH
20,000

1

@

PANEL B: COST OF GOODS MANUFACTURED |

19

Cellular Products

20

Schedule of Cost of Goods Manufactured®

p CSliS ) 53 6% 7 ) Jglaan aghad Ua ol

A | B |

21 For the Year Ended D ber 31, 2014 (in th ds)
T 1 |PANEL A: INCOME STATEMENT | |
53 | Beginning inventory, January 1, 2014 $11,000 2 Cellular Products
24 Purchases of direct 73,000 3 Income Statement
STEF1 | 5| Costordiect iiable for use 84,000 o For the Year Ended December 31, 2014 (in thousands)
26 | Ening oy, Do 1. 201 oo T S R 102
Direct materials used ¢ (T
7 Beginning finished goods inventory, January 1, 2014 $ 22000
STEP4 g Cost of goods ifactured (see Panel B) 104,000 |«
9 Cost of goods available for sale 126,000
STEP 2 10 |  Ending finished goods i y, December 31, 2014 18,000
11 Cost of goods sold 108,000
Gross margin (or gross profit)
37 |Manufacturing costs incurred during 2014 105,000
3g |Beginning work-in-process inventory, January 1, 2014 6,000
STEP3 39 |Total manufacturing costs o account for 111,000 16 |Operating income
40 |Ending work-in-process inventory, December 31, 2014 7,000 |
41 |Cost of goods mant (to income: $104,000 [
#Note that this schedule can become a schedule of cost of goods manufactured and sold simply by including the beginning
42 | and ending finished goods inventory figures in the supporting schedule rather than in the body of the income statement.
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Other Cost Considerations (A 4dlSi b
Z Prime cost (PC) is a term referring to all direct manufacturing costs (materials and labor).
()5 o) pall) 3 bl ariail) CallSS muan ) ey mllaiae oo A3 g4 ddlsil)
Conversion cost (CC) is a term referring to direct labor and indirect manufacturing costs.
el e aiaail CllSS 5 8 50l Alaall LU uy llaaa Jysatll bl
Z Overtime labor costs are considered part of indirect overhead costs.
Bl e ddlal) CallSHl e 12 Ga et Agdlzay) Adland) (i

NK¢

PC =DM used + DL

CC=DL + MOH
(AdLay) ALay) (e G Jigealls dda a3) il A0 A Jligw B diadle
s Ao gllaal) JALEEY (il B JS 1 AadAd)
1. Beginning DM (Direct materials) + Purchases = Available for Use DM
2. Available for Use DM - Ending Dm = Dm Used
3. Dm Used + DL + MOH = Total Current Manufacturing
4. Beginning WIP + Total Current Manufacturing = Total WIP Inventory
5. Total WIP Inventory — Ending WIP = Cost Of Goods Manufacturing (C.G.M)
6. Cost Of Goods Manufacturing (C.G.M) + Beginning Finished Goods (F.G) = Total F.C Available for

sale

Total F.C Available for sale — Ending F.G = Cost Of Goods Sold (C.G.S)
Prime cost (PC) = Dm Used + DL

9. Conversion cost (CC) = DL + MOH

% N

Additional Question 4:éLaY) ALy
Q1: Circle the correct answer
1) Cost objects include:
a) products
b) customers

c) departments
d) All of these answers are correct.

2) Budgeted costs are:
a) the costs incurred this year
b) the costs incurred last year
¢) planned or forecasted costs
d) competitor's costs

3) Cost assignment:
a) is always arbitrary
b) is includes tracing and allocating
c) isthe same as cost accumulation
d) is finding the difference between budgeted and actual costs

4) Cost tracing is:
a) the assignment of direct costs to the chosen cost object
b) a function of cost allocation
c) the process of tracking both direct and indirect costs associated with a cost object
d) the process of determining the actual cost of the cost object
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5) Cost behavior refers to:

a)
b)
c)
d)

6) If each motorcycle requires a belt that costs $20 and 2,000 motorcycles are produced for the
month, the total cost for belts is:

a)
b)
c)
d)

7) A band of normal activity or volume in which specific cost-volume relationships are maintained is
referred to as the:

a)
b)
c)
d)

8) When 20,000 units are produced, fixed costs are $16 per unit. Therefore, when 40,000 units are
produced fixed costs will:

a) increase to $32 per unit
b) remain at $16 per unit
c) decrease to $8 per unit
d) total $640,000
9) When 10,000 units are produced, variable costs are $6 per unit. Therefore, when 20,000 units are
produced:
a) variable costs will total $120,000
b) variable costs will total $60,000
c) variable unit costs will increase to $12 per unit
d) variable unit costs will decrease to $3 per unit
10) - sector companies purchase materials and components and convert them into finished
goods.
a) Merchandising
b) Service
c¢) Manufacturing
d) Professional
11) - sector companies provide intangible products.
a) Professional
b) Manufacturing
c) Merchandising
d) Service
12) Manufacturing overhead costs are also referred to as:
a) indirect manufacturing costs
b) prime costs
c) period costs
d) direct material

CH2 - ACCT335 (COST) yasili

how costs react to a change in the level of activity

whether a cost is incurred in a manufacturing, merchandising, or service company
classifying costs as either inventoriable or period costs

whether a particular expense has been ethically incurred

considered to be a direct fixed cost
considered to be a direct variable cost
considered to be an indirect fixed cost
considered to be an indirect variable cost

average range
cost-allocation range
cost driver range
relevant range
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13) Merchandising companies normally report:
a) only merchandise inventory
b) only finished goods inventory
c) direct materials inventory, work-in-process inventory, and finished goods inventory accounts
d) noinventory accounts

14) Finished goods inventory would normally include:
a) direct materials in stock and awaiting use in the manufacturing process
b) goods partially worked on but not yet fully completed
c) goods fully completed but not yet sold
d) products in their original form intended to be sold without changing their basic form

15) are the acquisition costs of all materials that eventually become part of the cost object
and can be traced to the cost object.
a) Direct manufacturing labor costs
b) Direct material costs
c) Indirect manufacturing costs
d) Manufacturing overhead costs

16) Costs that are initially recorded as assets and expensed when sold are called:
a) period costs
b) inventoriable costs
c) variable costs
d) fixed costs

17) Prime costs include:
a) direct materials and direct manufacturing labor costs
b) direct manufacturing labor and manufacturing overhead costs
c) direct materials and manufacturing overhead costs
d) only direct materials

Answer the following questions using the information below:
The East Company manufactures several different products. Unit costs associated with Product
ORD203 are as follows:

Direct materials S50
Direct manufacturing labor 8
Variable manufacturing overhead 10
Fixed manufacturing overhead 23
Sales commissions (2% of sales) 5
Administrative salaries 9
Total $105
18) What are the inventoriable costs per unit associated with Product ORD203?

a) S60

b) $66

c) 48

d) $91
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19) What are the period costs per unit associated with Product ORD203?
a) $14
b) S5
c) S$9
d) $26

20) What are the variable costs per unit associated with Product ORD203?
a) S60
b) $82
c) $73
d) $105

21) What are the fixed costs per unit associated with Product ORD203?
a) S23
b) $32
c) $35
d) S44

22) For last year, Wampum Enterprises reported revenues of $420,000, cost of goods sold of
$108,000, cost of goods manufactured of $101,000, and total operating costs of $70,000.
Operating income for that year was:

a) $319,000
b) $312,000
c) $249,000
d) $242,000

23) Wheel and Tire Manufacturing currently produces 1,000 tires per month. The following per unit
data apply for sales to regular customers:

Direct materials $20
Direct manufacturing labor 3
Variable manufacturing overhead 6
Fixed manufacturing overhead 10
Total manufacturing costs $39

The plant has capacity for 3,000 tires and is considering expanding production to 2,000 tires. What is
the total cost of producing 2,000 tires?

a) $39,000

b) $78,000

c) $68,000

d) $62,000
Answer: [($20 + $3 + $6) x 2,000 units] + ($10 x 1,000 units) = $68,000

Answer the following questions using the information below "24+25":
The following information pertains to Alleigh's Mannequins:
Manufacturing costs $1,500,000

Units manufactured 30,000
Units sold 29,500 units sold for $85 per unit
Beginning inventory 0 units
|Pagel0
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24) What is the average manufacturing cost per unit?
a) $50.00
b) $50.85
c) $17.65
d) $85.00
Answer: $1,500,000 / 30,000 = $50.00

25) What is the amount of ending finished goods inventory?
a) $42,500
b) $25,424
c) $25,000
d) $1,475,000
Answer: (30,000 - 29,500) x ($1,500,000 / $30,000) = $25,000

26) In the cost classification system used by manufacturing firms, total manufacturing costs would

include all of the following EXCEPT:
a) direct materials costs and conversion costs

b) direct materials costs, direct manufacturing labor costs, and manufacturing overhead costs
c) indirect materials costs, indirect manufacturing labor costs, and manufacturing overhead costs

d) prime costs and manufacturing overhead costs

27) Which of the following formulas determine cost of goods sold in a merchandising entity?
a) Beginning inventory + Purchases + Ending inventory = Cost of goods sold
b) Beginning inventory + Purchases - Ending inventory = Costs of goods sold
c) Beginning inventory - Purchases + Ending inventory = Cost of goods sold
d) Beginning inventory - Ending inventory - Purchases = Cost of goods sold

28) The following information pertains to the Cannady Corporation:

Beginning work-in-process inventory $ 50,000
Ending work-in-process inventory 48,000
Beginning finished goods inventory 180,000
Ending finished goods inventory 195,000
Cost of goods manufactured 1,220,000
What is cost of goods sold?
a) $1,235,000
b) $1,205,000
c) $1,218,000
d) $1,222,000

Answer the following questions using the information below:
Beginning finished goods, 1/1/20X5 $ 40,000
Ending finished goods, 12/31/20X5 33,000

Cost of goods sold 250,000
Sales revenue 600,000
Operating expenses 120,000

29) What is cost of goods manufactured for 20X5?
a) $257,000
b) $350,000
c) $243,000
d) $250,000
Answer: $250,000 + $33,000 - $40,000 = $243,000
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30) What is gross margin for 20X5?
a) $243,000
b) $527,000
c) $357,000
d) $350,000
Answer: $600,000 - $250,000 = $350,000

31) What is operating income for 20X5?
a) $230,000
b) $123,000
c) $107,000
d) $157,000
Answer: $600,000 - $250,000 - $120,000 = $230,000

Q2: Indicate whether each of the following statements is true or false.
True 1. Products, services, departments, and customers may be cost objects.

True 2. Actual costs and historical costs are two different terms referring to the same thing.

True 3. The same cost may be direct for one cost object and indirect for another cost object.

True 4. Some fixed costs may be classified as direct manufacturing costs.

True 5. Fixed costs in total will NOT change in the short run, but may change in the long run.
False 6. Variable costs per unit vary with the level of production or sales volume.

True 7. The variable cost per unit of a product should stay the same throughout the relevant range

of production

False 8. When 100,000 units are produced the fixed cost is $20 per unit. Therefore, when 500,000
units are produced fixed costs will remain at $20 per unit.

False 9. Google would be an example of a merchandising company

True 10. Direct manufacturing labor includes wages and fringe benefits paid to machine operators.

Q3: Renka’s Heaters selected data for October 2014 are presented here (in millions):

Direct materials inventory 10/1/2014 $ 105
Direct materials purchased 365
Direct materials used 385
Total manufacturing overhead costs 450
Variable manufacturing overhead costs 265
Total manufacturing costs incurred during October 2014 1,610
Work-in-process inventory 10/1/2014 230
Cost of goods manufactured 1,660
Finished goods inventory 10/1/2014 130
Cost of goods sold 1,770

Calculate the following costs: 4lil) Callsil) coval

1. Direct materials inventory 10/31/2014

2. Fixed manufacturing overhead costs for October 2014
3. Direct manufacturing labor costs for October 2014

4. Work-in-process inventory 10/31/2014

5. Cost of finished goods available for sale in October 2014
6. Finished goods inventory 10/31/2014

Answers:

1. Ending Balance of DM = 105 + 365 — 385 = 470 — 385 = $85
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2. Fixed MOH = Total MOH - Variable MOH = 450 — 265 = $185

3. Total Manuf.costs = DM used + DL + MOH .... DL = Total Manuf.Costs — (DM used + MOH)
DL=1,610 —(385+450) = 1,610 — 835 = $775
4. WIP Ending Balance = Beginning Balance + Total Manuf + C.G.M
= 230+ 1,610-1,660 = $180

5. C.G.AS=F.G+C.G.M=130+1,660=5$1,790
6. F.G Ending Balance = Beginning Balance + C.G.M + C.G.S
=130+ 1,660—-1,770=1,790 - 1,770 = $20

Q4: Archambeau Products Company manufactures office furniture. Recently, the company
decided to develop a formal cost accounting system and classify all costs into three categories.
Categorize each of the following items as being appropriate for (1) cost tracing to the finished
furniture, (2) cost allocation of an indirect manufacturing cost to the finished furniture, or (3) as a
nonmanufacturing item
il g ) LS Ao aURT y ol 134750 AS i) <y B ciilsall &) aiai Archambeau Products 48 s
(2) ¢ Salad GUDU ARt A (1) 4 ilie 41 o AU jalial) (10 pais JS Ciia b &G L) Cillsil) aan
il g pains (3) o ¢ Saladl GUBU B Halall e aiuant) 4815 48ISS jamadl

Cost Cost Nonmanu- A . Cost Cost N

Item Tracing Allocation  facturing *‘™SWeC -08 -ost sonmanu-
Item Tracing Allocation facturing

Carpenter wages '

Depreciation - office building Carpenter wages o X

Glue for assembly Depreciation - office building X

Lathe department supervisor Glue for assembly ) X

Lathe depreciation Lathe department supervisor X

Lathe maintenance Lathe depreciation X

Lathe operator wages Lathe maintenance X

Lumber Lathe operator wages X

Samples for trade shows Lumber X

Metal brackets for drawers Samples for trade shows X

Factory washroom supplies Metal brackets for drawers X
Factory washroom supplies X

Q5: ALi manufacturing wants to estimate costs for each product they produce at its ABC plant.
The Troy plant produces three products at this plant, and runs two flexible assembly lines. Each
assembly line can produce all three products.
(o Claiie LD ABC pisas il L Galill ABC gluas (b 4l e JS CilSS jal o aatl) 4S54 3 55 15 0a
DG claiiall aes U arand Jad JSI Say (g et Bl g ¢ aiaall 138
Required: < sihaall
a. Classify each of the following costs as either direct or indirect for each product.
e (98 pla g g B ilaa La) AN RSN (e S China
b. Classify each of the following costs as either fixed or variable with respect to the number of

units produced of each product.
e JS Aqiial) culaa gl damy (alay Lasd 3 ptie ol AL La) 40000 ALK (ha JS Ciika
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Direct Indirect Fixed Variable

Assembly line labor wages

Plant manager's wages
Depreciation on the assembly

line equipment

Component parts for the product
Wages of security personnel for the

factory
Direct Indirect Fixed Variable
ANSWERS: Assembly line labor wages X X
Plant manager's wages X X
Depreciation on the assembly line equipment X X
Component parts for the product X X
Wages of security personnel for the factory X X

Q6: Hyundai Inc., had the following activities during 2022:
Direct materials:

Beginning inventory $ 20,000
Purchases 61,600
Ending inventory 10,400
Direct manufacturing labor 16,000
Manufacturing overhead 12,000
Beginning work-in-process inventory 800
Ending work-in-process inventory 4,000

Beginning finished goods inventory 24,000
Ending finished goods inventory 16,000
Required: < skl
a) What is the cost of direct materials used during 2022?
12022 s\ IR aadiiall 3 pdliall o) gall AalSH A L

b) What is cost of goods manufactured for 2022? 2022 a2l dniadll dliadl 43lS5 o4 L
c) What is cost of goods sold for 2022? £2022 plal dc il piliad) 48155 o L

d) What amount of prime costs was added to production during 20227?
2022 ale JMa Y ) Lesila) cod i) A3 Y1 Callsall laia Le
e) What amount of conversion costs was added to production during 20227?
12022 sl B)EN GL’;A‘;!\ &) Ll gl ‘fﬂ\ Josaill ol jlasa L
Answers:
$20,000 + $61,600 - $10,400 = $71,200
$71,200 + $16,000 + $12,000 + $800 - $4,000 = $96,000
$96,000 + $24,000 - $16,000 = $104,000
$71,200 + $16,000 = $87,200
$16,000 + $12,000 = $28,000

o

P a0 T

Q7: Using the following information find the unknown amounts. Assume each set of information
is an independent case.

Aldfie Da Cila & cilaglrad) (e Ae gana JS o (2 58) b g pall i Al (o i) ¢ A Cila plaeal) aladicly

a. Purchases $210,000
Merchandise | Cost of goods sold 223,000
Inventory Beginning balance 41,000
|Pageld
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Ending balance 7N
b. | Direct Beginning balance $ 7,000
Materials Ending balance 14,000
Purchases 48,000
Direct materials used 7N
c. | Work-in- Ending balance $ 22,000
process Cost of goods manufactured 21,000
Inventory Beginning balance 8,000
Current manufacturing costs 7N
d. | Finished Cost of goods manufactured | $62,000
Goods Ending balance 20,000
Inventory Cost of goods sold 61,000
Beginning balance 7N
Answers:

a. Ending balance of merchandise inventory: $41,000 + $210,000 - $223,000 = 28,000

b. Direct materials used: $7,000 + $48,000 - $14,000 = $41,000

c. Current manufacturing costs: 521,000 + $22,000 - $8,000 = $35,000

d. Beginning balance of finished goods inventory: $20,000 + $61,000 - $62,000 = $19,000

Q8: Each of the following items pertains to one of these companies: Bedell Electronics (a
manufacturing company), Gregory Food Retailers (a merchandising company), and Larson Real
Estate (a service sector company). Classify each item as either inventoriable (1) costs or period (P)

costs.

Gregory ¢ (&l 45 ,4) Bedell Electronics <l pddl oda gaa) (ady 400N jualiall (a pais S 18
L) Al o jaie JS Ciyiualy ab  (cilasd pUabd 4 44) Larson Real Estate 5 ¢ (4 las 45 44) Food Retailers
.(P) 8l LSS i (1) Al ALG Cidss

inventoriable (1) costs
or period (P) costs

Salary of Bedell Electronics president

P

Depreciation on Bedell Electronics assembly equipment.

Salaries of Bedell's assembly line workers

Purchase of frozen food for sale to customers by Gregory Food Retailers

Salaries of frozen food personnel at Gregory Food Retailing

Depreciation on freezers at Gregory Food Retailing

Salary of a receptionist at Larson Real Estate

Depreciation on a computer at Larson Real Estate

~|Fm e |ale T

Salary of a real estate agent at Larson Real Estate

|
|
|
|
P
P
P
P

Q9: The following information pertains to Ball Company:

Manufacturing costs $2,400,000
Units manufactured 40,000
Beginning inventory 0 units

39,800 units are sold during the year for $100 per unit.

Required: < siball

a.

What is the average manufacturing cost per unit?

A8 yd gl A cila glaall
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b. What is the amount of ending finished goods inventory?
What is the amount of gross margin?
Answers:
$2,400,000 / 40,000 = $60.00
(40,000 - 39,800) x $60 = $12,000
39,800 x ($100 - $60) = $1,592,000

o o

END OF CHAPTER 2
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Basic Costing Terminology 4l 44l cilathas
Let’s review several key terms from prior chapters: ALl AEaN (e Ll cilathias Bas gl i Usa
*  Cost objects are anything for which a cost measurement is desired
e B Y S Ade n sl Ha) 6B b 1 Jha alal e AESE 8 G glae o 5 sl o Al s
* Direct costs of a cost object are costs that can be traced to that cost object in an economically
feasible way

Uiobai®) Fpame 48yl 12 A8 (S ) gmi (S S ClSal o 4SSN (1) 3 pdilsal) il
* Indirect costs of a cost object are costs that cannot be traced in an economically feasible way
Gl fpame i sl Lgn (e Y (RIS o AAISH) S § pigall yb il
And Some New Terms Syl clalhaal) (hayg
* Cost Pool — a grouping of individual indirect cost items. Cost pools simplify the allocation of
indirect costs because the costing system does not have to allocate each cost individually.
3 pdlall e ISl anadt dulee dasi e CallSil) e gane Jaad d03a0 3 3Ll e AdSH) 3 g aras - ABICH) gane
Baa o Al € anads ) Uag Y CallSall i ol oY
e Cost-allocation base — a systematic way to link an indirect cost or group of indirect costs to cost
objects. (For example: direct labor hours).
el s o) A8 el 3 dball e S de pana gl 580 e 4GS Loy ) Lngie 48 )l - AR 2y 565 Bae
(5l Jeall el
* The concepts represented by these five terms constitute the building blocks we will use to design
the costing systems described in this chapter.
138 & Ao gall CallSil) jpai dabal avenatl Lpaadiin ) dpulud) @llll Gl Cilallhaall oda Lelia il apaliall (S

Costing Systems <iullsil) alai
1. InaJOB COSTING SYSTEM, " laall sla (8 da yd albuu il ol) 4415 aUSS
* the cost object is a unit or multiple units of a distinct product or service which we call a job.
Ak 5 Lgpans  jrae dedd sl priiial Baaeie Cilan g gl Baa g AdlH) IS
* Each job generally uses different amounts of resources.
Sl sall (e ddlise CiliaS ple JS Adda y JS adid

»  Costs are accumulated separately for each job. Agks § JS1 Jaadia S0 oSl aant o
*  Examples: construction Companies, movies production, audit firms, Kellogg (corn flakes,
crispix).

(oS S 5,31 318 5) Kellogg ¢ A S 38 ¢ 28V 2] ¢ oLl S i ; ALkl
2. Ina PROCESS COSTING SYSTEM, " 17 Jjildi A da d st ™ dyleal) 4815 oS
* the cost object is masses of identical or similar units of a product or service.
* In this type of system, we divide the total cost of producing an identical or similar product or
service by the total number of units produced to obtain a per-unit cost.
Aaiall Clas ol MeaY) aaall e dgliia 5 diilaie dadd 5l e LY dullea ) A8KHH anits ¢ Lkl e g 1) 128 B
o USRS e Jganll
*  Examples: Pepsi Co., Corn flakes production by Kellogg.
ZohS A5 a3 A 3 ) ) ¢ o A4S Hd AL
JOURNAL ENTRIES 4l s ci¥la)
TRANSACTION 1: $80,000 worth of materials (direct and indirect) were purchased on credit.
o) et Gl e (38l e 55 580a) LY 53 80000 dasis 3 e o) b ad 11 Alalaall
Dr. Materials inventory 80,000 Materials Inventory
Cr. Accounts Payable 80,000

$80,000
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TRANSACTION 2: Materials costing $75,000 were sent to the manufacturing plant floor. $50,000 were

issued to Job No. 650 and $10,000 to Job 651. $15,000 of indirect materials were issued.

Y52 10000 5 650 &8 4sda sl H¥ 53 50000 Llval & | piucadll duam )l LY 52 75000 48 o) e Jls ) a3 12 Alalaall
B8kl e o sall (e HY 52 15000 Llral & 651 ddds il

Dr. WIP Inventory (jobs 650 & 651) 60,000 Materials Inventory
MOH Control 15,000
Cr. Materials Inventory 75,000 $80,000 $75,000
Raw materials Inventory WIP
$80,000 $75.000 DM $60,000

MANUFACTUTING OVERHEAD

IND. MAT $15,000

TRANSACTION 3: Total manufacturing payroll for the period was $27,000. Job No. 650 incurred direct
labor costs of $19,000 and Job No. 651 incurred direct labor costs of $3,000. $5,000 of indirect labor was
also incurred
19000 la )8 3 il Allee aISS 650 A8 Adda ol aSS )Y 63 27000 S 538l s3] muiaill il 5 ) Jea) 13 Addlaal)
5 pdlall ye Aleall (e Y 53 5000 25 23 WS Y 93 3000 e a8 3 il Allee CallSs B51 a8 A ol Caaki g HY 9o

Dr. WIP Inventory (Jobs 650 & 651) 22,000 Wages Payable WIP (JOB 650 & 651)
MOH Control 5,000 DM $60,000
Cr. Wages Payable 27,000 $27,000 DL $22,000

MANUFACTUTING OVERHEAD CONTROL

IND. MAT $15,000 -—
IND.LAB  $5,000

TRANSACTION 4: Assume that machine depreciation for the period is $26,000. Other manufacturing
overhead incurred amounted to $33,100
DY 52 33100 328l (5 A gl dalal) i) cialyy | )Y 50 26000 s 538l AV Ngin) o (i il 14 Addalaall
Dr. MOH Control 59,100
Cr. Accumulated Depreciation 26,000
Accounts Payable 33,100

Allocation of Indirect costs 5_diliall & CilSH (auads
NORMAL COSTING — allocates indirect costs based on the budgeted indirect cost rates times the actual
quantities of the cost allocation base.

sacldl Agladl) Gl 8 Gy pine dad gial) 5 il e Z8IKHH C¥are o 2l 3 p8lall e CallSEl Gacads - dgalal) ddt
First: Compute the Rate per Unit of each cost-allocation base used to allocate indirect costs to the job

Aagda 1l 5580l e RS Ganaddl daddine Al &y 558 BaclE U< Baa 5 JS) Jarall il 1Y
Budgeted Manufacturing Overhad Costs

Budgeted Total Quantity Of Cost — Allocation Base

Budgeted Manufacturing Overhad Rate =

Second: Compute the indirect costs allocated to the job:  4ada il dcaiaddll 3 jaldl e CadlSall Cludal Ll
Budgeted MOH Allocation Rate x Actual Base Activity for the Job
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Ex: Assume that the manufacturing company budgets $60,000 for total manufacturing overhead costs
and 2,400 machine-hours (the allocation base). What is the budgeted indirect-cost rate?
4ele 2400 5 dabal) micaill CadlSs  Maa Y 50 ill B0 L 438 4l jae goial Axiaall 488l o (a5l U Ja o
€ Gad giall 5 pilall e 4K Jaee 98 La (Ganadidl) eluf) 2SLll Jee
Budgeted Manufacturing Overhad Costs

Budgeted Total Quantity Of Cost — Allocation Base
$60,000

2400 Machine Hours

Budgeted Manufacturing Overhad Rate =

Budgeted Manufacturing Overhad Rate = = $25 / Machine Hours

Ex: How much indirect cost should be allocated to Jobs 650 and 651 assuming they incurred 1000 and
1980 machine hours respectively?
1980 5 1000 L Logil (al 5L 651 5 650 wila sl guanadd Cany 5 dlall e ddsill laie Le tdhal) G e
(Gl JEal B a8 Y o slaie ) ) ¢ sl e Al dels

MOH Allocated to Job 650 = Budgeted MOH Allocation Rate x Actual Base Activity for the Job

$25/ machine h. X 1,000 machine hours =$ 25,000
MOH Allocated to Job 651 = Budgeted MOH Allocation Rate x Actual Base Activity for the Job
$25/ machine h. X 1980 machine hours = $49,500
Total MOH Allocated = $25,000 + $49,000 = $74,500
wIP
What journal entry should be recorded? [:: ZZZZT](:)
Dr. WIP Inventory (Jobs 650 & 651) 74,500 ' '
Cr. MOH Allocated 74,500 MOH ALLOC. $ 74,500
$156,500

Assume Job 650 is completed and sold for $150,000 on account, what are the required journal entries?
04y sllaal) dya sall i VIR 8 Lo e bl e Y 50 Call 150 Jilie g s JeiSI 38 650 deadl o ia i)
Total Cost of Job 650 ™ &d;lud) ALiaY) L £ g2 0 JMA (14 650 Jard) Cil\Ss £ gana™

DM $50,000
DL 19,000
MOH Allocated 25,000

Total Manufacturing costs of Job 650 $94,000

First: Dr. Finished goods Inventory (Job 650) 94,000
Cr. WIP Inventory (Job 650) 94,000
Second: Dr. C.G.S 94,000
Cr. Finished goods Inventory 94,000
Dr. Accounts Receivable  $150,000
Cr. Sales $150,000

Accounting for Overhead — 4alal) cilidil) 4ulaa
Recall that two different overhead accounts were used in the preceding journal entries:
AR e sl iy VAL 8 Guilise Cale (b aladii) g5l S
®  Manufacturing overhead control was debited for the actual overhead costs incurred.
LSSl Aulaal) Cadl<sll @.Laﬂ\ il L;. rQS;JJ\ i Al
®  Manufacturing overhead allocated was credited for estimated (budgeted) overhead
applied to production through the work-in-process account.
YA e Uy e diaall (Al el 3 da yaall) A i) oSl daaddl) gyieail] dalall ol dila) o
el 2 Jaall liaa
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BACK TO MOH and MOH ALLOCATED
MOH Control MOH ALLOCATED

$79,100 $74,500

Difference = $4,600 J-
i
Actual costs will almost never equal budgeted costs. Accordingly, an imbalance situation exists
between the two overhead accounts.
el clia) s (51 55 ane Alla aa gy ¢ Gl Gy | Aad glal) GRS A (g glud G Adadl) CidlSl)
®  |f Overhead Control > Overhead Allocated, this is called UNDERALLOCATED overhead
dLaadal) o dalal) cilddil) and 3 e 3lad ¢ dalall il panads <dalal) Glaal) b Saill Al 4
®  |f Overhead Control < Overhead Allocated, this is called OVERALLOCATED overhead.
A0 Jand) 138 e ¢ Adlall G Ganadi> dalall cilis) b WSall S 1)
The difference between the overhead accounts will be eliminated in the end-of-period adjusting entry
process, using one of two possible methods.
LCilaiaal) iy plal) gan aladiady ¢ 3 Al Aulgd JA e dddes A daladl clibead) (30811 (e el sl
1. Proration approach: the difference is allocated between cost of goods sold, work-in-process,
and finished goods based on their relative sizes.
Al lealaal e 2l ginall dalil) aludl s Jaail 08 Janll s Ao laall gllasl) IS5 G G @55 o el el
2. Write-off approach: the difference is simply written off to cost of goods sold
Ao Lol bl 4815y (3l i Aalisy oy rquladl) grgd

Ex: When the WIP $62,500 and C.G.S $94,000 and No Finished Good, Make a journal entry with:
1. Proration approach
2. Write-off approach

Answer:
1. WIP inventory = (WIP / (WIP + F.G + C.G.S) X the difference)
=($62,500 / (562,500 + 0 + $94,000) X 4600) = $1,837
C.G.S = (C.G.S/ (WIP + F.G + C.G.S) X the difference)
= ($94,000 / ($62,500 + 0 + $94,000) X 4600) = $2,763

Dr. MOH Allocated 74,500
WIP Inventory 1,837
C.G.S 2,763
Cr. MOH Control 79,100
2. Dr. MOH Allocated 74,500
C.G.S. 4,600
Cr. MOH Control 79,100

" (3 OVaall) Al ALl B Ada i . aSal) (B 352 gal) ) paadl”
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Additional Question 4Ly ALyl

Q1: Circle the correct answer

1. Job costing information is used:

oo oo

to develop strategies

to make pricing decisions

for external financial reporting
All of these answers are correct.

is a grouping of individual indirect cost items.
cost allocation base
cost assighment
cost pool
job-costing system

3. Each indirect-cost pool of a manufacturing firm:

oo oo

utilizes a separate cost-allocation rate
is a subset of total indirect costs
relates to one cost object

All of these answers are correct.

4. Direct costs

o

are anything for which a measurement of costs is desired.

are costs related to a particular cost object that can be traced to that cost object in an

economically feasible (cost-effective) way
focus specifically on the costing needs of the CFO
provide all information for management decision needs

5. Assigning direct costs to a cost object is called:

a. costallocation
b. cost assighment
c. cost pooling
d. cost tracing
6. is the process of distributing indirect costs to products.
a. Cost allocation
b. Job cost recording
c. Cost pooling
d. Cost tracing
7. A links an indirect cost to a cost object.
a. cost-allocation base
b. cost pool
C. costassignment
d. costtracing
8. costing is used by a business to price homogeneous products.
a. Actual
b. Job
c. Process
d. Traditional
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9. costing is used by a business to price unique products for different jobs.
a. Actual

b. Job

c. Process

d. Traditional

10. Job-costing may only be used by:
a. service companies
b. merchandising companies
c. manufacturing companies
d. All of these may use job-costing.

11. The actual indirect-cost rate is calculated by
a. dividing actual total indirect costs by the actual total quantity of the cost-allocation base.
b. multiplying actual total indirect costs by the actual total quantity of the cost-allocation base.
c. dividing the actual total quantity of the cost allocation base by actual total indirect costs.
d. multiplying the actual total quantity of the cost allocation base by actual total indirect costs.

12. For a given job the direct costs associated with the job are:
a. actual overhead
b. direct material
c. direct manufacturing labor
d. Both b and c are correct.

13. The budgeted indirect-cost rate for each cost pool is computed as
a. budgeted annual indirect costs divided by budgeted annual quantity of cost allocation base.
b. budgeted annual quantity of cost allocation base divided by budgeted annual indirect costs.
c. actual annual indirect costs divided by budgeted annual quantity of cost allocation base.
d. budgeted annual indirect costs divided by budgeted actual quantity of cost allocation base.

14. Stewart Company's actual manufacturing overhead is $2,800,000. Overhead is allocated on the
basis of direct labor hours. The direct labor hours were 50,000 for the period. What is the
manufacturing overhead rate?

a. $47.00
b. $56.00
c. $75.00

d. None of the above are correct.
Explanation: B) 2,800,000/50,000 = 56.00

15. O'Reilly Enterprises manufactures digital video equipment. For each unit $2,950 of direct material
is used and there is $2,000 of direct manufacturing labor at $20 per hour. Manufacturing overhead
is applied at $35 per direct manufacturing labor hour. Calculate the cost of each unit.

a. $4,950

b. $9,950
c. $8,450
d. $11,950

Explanation: C) 2,950+2,000+((2,000/20) *35)

16. In a job-costing system, a manufacturing firm typically uses an indirect-cost rate to estimate the
allocated to a job.

A) direct materials B) direct labor

C) manufacturing overhead costs D) total costs
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Answer the following questions using the information below:
For 2010, Jake's Dog Supply Manufacturing uses machine-hours as the only overhead cost-allocation
base. The accounting records contain the following information:
Estimated Actual
Manufacturing overhead costs | $200,000 = $240,000
Machine-hours 40,000 50,000
17. Using job costing, the 2010 actual indirect-cost rate is:
a. $4.00 per machine-hour
b. $4.80 per machine-hour
c. $5.00 per machine-hour
d. $6.00 per machine-hour
Explanation: B) $240,000 / 50,000 mh = $4.80

18. Using actual costing, the amount of manufacturing overhead costs allocated to jobs during 2010

is:
a. $300,000
b. $250,000
c. $240,000.
d. $200,000

Explanation: C) 50,000 mh x $240,000 / 50,000 mh allocation rate = $240,000

Answer the following questions using the information below:

Philadelphia Company manufactures pipes and applies manufacturing overhead costs to production at a
budgeted indirect-cost rate of $15 per direct labor-hour. The following data are obtained from the
accounting records for June 2010:

Direct materials $140,000
Direct labor (3,500 hours @ $11/hour) S 38,500
Indirect labor S 10,000
Plant facility rent S 30,000
Depreciation on plant machinery and equipment = $ 15,000
Sales commissions S 20,000
Administrative expenses S 25,000

19. The actual amount of manufacturing overhead costs incurred in June 2010 totals:
a. $278,500

b. $100,000
c. $55,000
d. $40,000

Explanation: C) $10,000 + $30,000 + $15,000 = $55,000

20. The difference between actual costing and normal costing is:
a. normal costing uses actual quantities of direct-costs
b. actual costing uses actual quantities of direct-costs
¢. normal costing uses budgeted indirect-costs
d. actual costing uses actual quantities of cost-allocation bases

21. When using a normal costing system, manufacturing overhead is allocated using the
manufacturing overhead rate and the quantity of the allocation base.

A) budgeted; actual B) budgeted; budgeted
C) actual; budgeted D) actual; actual
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Answer the following questions using the information below:
For 2010, Jake's Dog Supply Manufacturing uses machine-hours as the only overhead cost-allocation
base. The accounting records contain the following information:
Estimated Actual
Manufacturing overhead costs | $200,000 = $240,000
Machine-hours 40,000 50,000
22. Using job costing, the 2010 budgeted manufacturing overhead rate is:
a. $4.00 per machine-hour
b. $4.80 per machine-hour
c. $5.00 per machine-hour
d. $6.00 per machine-hour
Explanation: C) $200,000 / 40,000 mh = $5

23. Using normal costing, the amount of manufacturing overhead costs allocated to jobs during 2010

is:
a. $300,000
b. $250,000
c. $240,000
d. $200,000

Explanation: B) 50,000 mh x $200,000 / 40,000 mh allocation rate = $250,000

24. In a normal costing system, the Manufacturing Overhead Control account:

a. isincreased by allocated manufacturing overhead

b. is credited with amounts transferred to Work-in-Process
c. is decreased by allocated manufacturing overhead

d. is debited with actual overhead costs

25. The Materials Control account is increased when:

a. direct materials are purchased
b. indirect materials are purchased
c. materials are requisitioned for production
d. Both A and B are correct.
26. When direct materials are requisitioned the account is increased.
a. Manufacturing Overhead Control
b. Work-in-Process Control
c. Materials Control
d. Accounts Payable Control

27. What is the appropriate journal entry if $100,000 of materials were purchased on account for the
month of August?
a. Materials Control 100,000
Accounts Payable Control 100,000
b. Work-in-Process Control 100,000
Accounts Payable Control 100,000
¢. Manufacturing Overhead Control 100,000
Accounts Receivable Control 100,000
d. Manufacturing Allocated 100,000
Accounts Receivable Control 100,000
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28. All of the following items are debited to Work-in-Process EXCEPT:
a. allocated manufacturing overhead
b. completed goods being transferred out of the plant
c. direct labor consumed
d. direct materials consumed

29. Manufacturing overhead costs incurred for the month are:

Utilities $30,000
Depreciation on equipment = $25,000
Repairs $20,000

Which is the correct journal entry assuming utilities and repairs were on account?
a. Manufacturing Overhead Control 75,000
Accounts Payable Control 50,000
Accumulated Depreciation Control 25,000
b. Manufacturing Overhead Control 75,000
Accounts Payable Control 75,000
c. Manufacturing Overhead Control 75,000
Accumulated Depreciation Control 75,000
d. Accumulated Depreciation Control 25,000
Accounts Payable Control 50,000
Manufacturing Overhead Control 75,000

30. The approach often used when dealing with small amounts of underallocated or overallocated

overhead is the approach.
a. adjusted allocation-rate
b. proration
c. write-off to cost of goods sold
d. Both Aand B are correct.

31. The spreading of under-allocated or overallocated overhead among ending work-in-process,
finished goods, and cost of goods sold is called:

the adjusted allocation rate approach

the proration approaches

the write-off of cost of goods sold approach

None of these answers are correct.

o o0 oo

Answer the following questions using the information below:
Because the Abernathy Company used a budgeted indirect-cost rate for its manufacturing operations,
the amount allocated (5200,000) was different from the actual amount incurred ($225,000).
Ending balances in the relevant accounts are:
Work-in-Process $ 10,000
Finished Goods 20,000
Cost of Goods Sold 170,000
32. What is the journal entry used to write off the difference between allocated and actual overhead
directly to cost of goods sold?
a. Manufacturing Overhead Allocated 200,000
Cost of Goods Sold 25,000
Manufacturing Overhead Control 225,000
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b. Manufacturing Overhead Control 200,000

Cost of Goods Sold 25,000
Manufacturing Overhead Allocated 225,000

c. Manufacturing Overhead Allocated 200,000

Work-in-Process Control 30,000
Cost of Goods Sold 170,000

d. Manufacturing Overhead Control 225,000
Work-in-Process Control 55,000
Cost of Goods Sold 170,000

33. In the service sector, to achieve timely reporting on the profitability of an engagement, a company
will use:
a. budgeted rates for all direct costs
b. budgeted rates for indirect costs
c. actual costing
d. budgeted rates for some direct costs and indirect costs

34. The basic source document for direct manufacturing labor is the:
a. job-cost record
b. materials-requisition record
c. labor-time record
d. All of these answers are correct.

35. The budgeted indirect-cost rate is calculated:
a. at the beginning of the year
b. during the year
c. atthe end of each quarter
d. atthe end of the year

Q2: Indicate whether each of the following statements is true or false.

False 1. Direct costs are allocated to the cost object using a cost-allocation method.

True 2. A cost object is anything for which a measurement of costs is desired.

True 3. The cost-allocation base is a systematic way to link an indirect cost or group of indirect
costs to cost objects.

True 4. Cost objects may be jobs, products, or customers.

False 5. Normal costing is a method of job costing that allocates an indirect cost based on the actual
indirect cost rate times the actual quantity of the cost-allocation base.

False 6. In each period, job costing divides the total cost of producing an identical or similar product
by the total number of units produced to obtain a per-unit cost.

False  7.1Injob costing, only direct costs are used to determine the cost of a job.

False 8. Each cost pool may have multiple cost allocation bases.

True 9. The budgeted indirect cost rate is the budgeted indirect costs divided by budgeted quantity
of the cost allocation base.

True 10. For normal costing, even though the budgeted indirect-cost rate is based on estimates,
indirect costs are allocated to products based on actual levels of the cost-allocation base.
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Q3: Job costing, unit cost, ending work in process. Rafael Company produces pipes for concert-quality
organs. Each job is unique. In April 2013, it completed all outstanding orders, and then, in May 2013, it
worked on only two jobs, M1 and M2:

Rafael Company, May 2013 Job M1 Job M2
Direct Materials $78,000 $51,000
Direct Manufacturing Labor 273,000 208,000

Direct manufacturing labor is paid at the rate of $26 per hour. Manufacturing overhead costs are
allocated at a budgeted rate of $20 per direct manufacturing labor-hour. Only Job M1 was completed in
May. Actual MoH 355,000.

1. Calculate the total cost for Job M1.
2. 1,100 pipes were produced for Job M1. Calculate the cost per pipe.
3. Prepare the journal entry transferring Job M1 to finished goods.
4. What is the ending balance in the Work-in-Process Control account?
5. Compute the under- or overallocated manufacturing overhead. Dispose of this amount using the
following:
a. Write-off method
b. Proration method
1.
Direct manufacturing labor rate per hour $26
Manufacturing overhead cost allocated $20
per manufacturing labor-hour
Job M1  Job M2
Direct manufacturing labor costs $273,000 $208,000
Direct manufacturing labor-hours ($273,000 ~ $26; $208,000 + 10,500 8,000
$26)

Manufacturing overhead cost allocated (10,500 X $20; 8,000 X $210,000 $160,000
$20)

Job Costs May 2011 Job M1  Job M2
Direct materials $78,000 $51,000
Direct manufacturing labor 273,000 208,000
Manufacturing overhead allocated 210,000 160,000
Total costs $561,000 $419,000
2.
Number of pipes produced for Job M1 1,100
Cost per pipe ($561,000 ~+1,100) $510
3. Finished Goods Control 561,000
Work-in-Process Control 561,000
4. DLH =2222_g 000

26
MOH = 8,000 * 20 = $160,000
Ending Balance = 51,000 + 208,000 + 160,000 = $419,000
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5. MOH Allocated = 370,000, MOH Control = 355,000 ... Difference (Over-Allocated)= 15,000
a. MOH Allocated 370,000
MOH Control 355,000
C.GS 15,000

b. MOH Allocated 370,000
MOH Control 355,000
WIP Inventory 6,413
F.G Inventory 8,587
Share Of WIP = (WIP / (WIP + F.G + C.G.S) X the difference)
= (419,000 / (419,000 + 561,000 + 0) X 15,000) = $6,413
Share Of F.G = (F.G / (WIP + F.G + C.G.S) X the difference)
= (561,000 / (419,000 + 561,000 + 0) X 15,000) = $8,587

Q4: In each of the following situations, determine whether job costing or process costing
would be more appropriate.

a. A CPA firm b. An oil refinery

c. A custom furniture manufacturer d. A tire manufacturer

e. A textbook publisher f. A pharmaceutical company

g. An advertising agency h. An architecture firms

i. A flour mill j- A paint manufacturer

k. A nursing home I. A landscaping company

m. A cola-drink-concentrate producer n. A movie studio

0. A law firm p. A commercial aircraft manufacturer
d. A management consulting firm r. A plumbing contractor

s. A catering service t. A paper mill u. An auto repair shop
Answer:

a. Job costing I Job costing

b. Process costing m. Process costing

C. Job costing n. Job costing

d. Process costing 0. Job costing

e. Job costing p. Job costing

f. Process costing g. Job costing

g. Job costing r. Job costing

h. Job costing . Job costing

i. Process costing t. Process costing

J Process costing u. Job costing

k. Job costing

Q5: Gammaro Company uses normal costing. It allocates manufacturing overhead costs using a
budgeted rate per machine-hour. The following data are available for 2014:
Budgeted manufacturing overhead costs  $4,200,000

Budgeted machine-hours 175,000
Actual manufacturing overhead costs $4,050,000
Actual machine-hours 170,000

1. Calculate the budgeted manufacturing overhead rate.
2. Calculate the manufacturing overhead allocated during 2014.

|Pagel2

1

]

pZ

—

o))

-HUOB com Uploaded By anonymous



CH4 - ACCT335 (COST) yasili
e (pdll slua

3. Calculate the amount of under- or overallocated manufacturing overhead. Why do Gammaro’s
managers need to calculate this amount?

Answer: )
Budgeted manufacturing overhead rate =  Zudgeted manufacturing overhead
Budgeted machine hours
$4,200,000
= 175,000 machinc-hours = $24 per machine-hour
2. Manufacturin .
g _ Actual Budgeted manufacturing
overhead = . X
machine-hours overhead rate
allocated
= 170,000 x $24 = $4,080,000
3. Because manufacturing overhead allocated is greater than the actual manufacturing

overhead costs, Gammaro calculates overallocated manufacturing overhead as follows:

Manufacturing overhead allocated $4,080,000
Actual manufacturing overhead costs 4,050,000
Overallocated manufacturing overhead $ 30,000

Q6: The Ride-On-Wave Company (ROW) produces a line of non-motorized boats. ROW uses a
normal-costing system and allocates manufacturing overhead using direct manufacturing
labor cost. The following data are for 2014:

Budgeted manufacturing overhead cost $125,000

Budgeted direct manufacturing labor cost $250,000

Actual manufacturing overhead cost $117,000
Actual direct manufacturing labor cost ~ $228,000
Account Ending balance 2014 direct manufacturing labor cost in ending balance
Work in process $ 50,700 $20,520
Finished goods 245,050 59,280
Cost of goods sold 549,250 148,200

1. Calculate the manufacturing overhead allocation rate.
Compute the amount of under- or overallocated manufacturing overhead.
3. Calculate the ending balances in work in process, finished goods, and cost of goods sold if under- or
overallocated manufacturing overhead is as follows:
a. Written off to cost of goods sold
b. Prorated based on ending balances (before proration) in each of the three accounts
c. Prorated based on the overhead allocated in 2014 in the ending balances (before proration)
in each of the three accounts

N

1. Budgeted manufacturing Budgeted manufacturing overhead cost _ $125,000
overhead rate — Budgeted direct manufacturing labor cost B $250,000

= 50% of direct manufacturing labor cost

2. Overhead allocated = 50% > Actual direct manufacturing labor cost
=50% X $228,000 = $114,000
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Underallocated = Actual manufacturing — Allocated plant overhead costs
manufacturing overhead overhead costs

=$117,000 — $114,000 = $3,000
Under-allocated manufacturing overhead = $3,000

3a. All under allocated manufacturing overhead is written off to cost of goods sold.

Both work-in-process (WIP) and finished goods inventory remain unchanged.

Account Dec. 31, 2014 Proration of $3,000 Dec. 31, 2014
Balance Underallocated Balance
(Before Proration)  Manuf. Overhead (After Proration)
1) (2) B)=1)+(2)
WIP $ 50,700 $ 0 $ 50,700
Finished Goods 245,050 0 245,050
Cost of Goods Sold 549,250 3,000 552,250
Total $845,000 $3,000 $848,000

3.(b) Under allocated manufacturing overhead prorated based on ending balances:

Account Dec. 31, 2014 Account Account Proration of $3,000 Dec. 31, 2014
Balance Balance as a Underallocated Account Balance
(Before Proration) Percent of Total Manuf. Overhead (After Proration)
1) (2)=(Q1)+ (3) =(2)* $3,000 @H=1)+@
$845,000
WIP $ 50,700 0.06 0.06 * $3,000= $ 180 $ 50,880
Finished Goods 245,050 0.29 0.29 % $3,000 = 870 245,920
Cost of Goods Sold 549,250 0.65 0.65 * $3,000= 1,950 551,200
Total $845,000 1.00 $3,000 $848,000

3.(c) Under-allocated manufacturing overhead prorated based on 2014 overhead in ending
balances:

Account Dec. 31, Allocated Allocated Manuf. Proration of $3,000 Dec. 31, 2014
2014 Manuf. Overhead in Underallocated Account
Account Overhead in Dec. 31, 2014 Manuf. Overhead Balance
Balance Dec. 31, 2014 Balance as a (4) = (3)* $3,000 (After Proration)
(Before Balance Percent of Total BG)=)+ 4
Proration) (Before (3) = (2) + $114,000
Q) Proration)
(2)
WIP $ 50,700 $ 10,260 0.09 0.09 = $3,000 = $ 50,970
$ 270
Finished Goods 245,050 29,640 0.26 0.26 * $3,000 = 780 245,830
st of Goods Sold 549,250 74,100 0.65 0.65 > $3,000 = 551,200
1,950
Total $845,000 $114,000 1.00 $3,000 $848,000

Overhead allocated = Direct manuf. labor cost=<50% = $20,520; $59,280; $148,200*50%
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Q7: Jordan Company has two departments, X and Y. Overhead is applied based on direct
labor cost in Department X and machine-hours in Department Y. The following additional
information is available:

Budgeted Amounts Department X Department Y

Direct labor cost $180,000 $165,000

Factory overhead $225,000 $180,000

Machine-hours 51,000 mh 40,000 mh
Actual data for Job #10 Department X Department Y
Direct materials requisitioned = $10,000 $16,000
Direct labor cost $11,000 $14,000
Machine-hours 5,000 mh 3,000 mh

Required:
a. Compute the budgeted factory overhead rate for Department X.
b. Compute the budgeted factory overhead rate for Department Y.
c. What s the total overhead cost of Job 10?
d. If Job 10 consists of 50 units of product, what is the unit cost of this job?

Answer:
a. $225,000/$180,000 =125% Or 1.25
b. $180,000/40,000 hrs. = $4.50 per hour
c. (511,000 x 125 percent) + ($4.50 x 3,000 hrs.) = 827,250
d. $10,000 + $16,000 + $11,000 + $14,000 + $27,250 = $78,250/50 units = 51,565 per unit

Q8: Job-cost records for Boucher Company contained the following data
Job No. @ Date Started Date Finished Date Sold Total Cost of Job at June 30

220 May 18 June 12 June 20 $6,000

221 May 20 June 19 June 21 4,000

222 June 7 July 5 July 12 7,000

223 June 10 June 28 July 1 6,500

224 June 19 July 16 July 25 8,000
Required:

a. Compute WIP inventory at June 30.
b. Compute finished goods inventory at June 30.
c. Compute cost of goods sold for June.

Answer:
a. $7,000 + $8,000 = $15,000

b. $6,500
c. $6,000 + $4,000 = $10,000

END OF CHAPTER 4
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Job versus Process Costing  4sleal) 4815 alaf 4813 Caula g5
Job-Costing Systems il gl callsi 4al3l)  Process-Costing Systems Cillaal) 4815 a2
Distinct, identifiable units of a product or service = Masses of identical or similar units of a product
Laxd f el 3 jaea 5 Bjpaa Slaa s oF service
Laxd gl i dglitia of dilaia Claa 5 (ga IS

Examples: Custom-made machines, houses Examples: Food, chemical processing
Jokall g allall Cua de gicaall YY) AL ALl Aalleal) g A3l o) gal) (ALLa)

A little more information about job-vs-process-costing: 4xlead) 44lSi Jilha 4duda gl) 4GS J ga Cila glral) (o 3330
** In a job-costing system, individual jobs use different quantities of resources, so it would be
incorrect to cost each job at the same average production cost.
Aads s S CalSh o aall e 0 sSns GlAT o ) sall e Aalide culiaS A0 Hall Caills gl andid ¢ il o) CMSE ciludal U L
Y A8 dass g gy
% In contrast, when identical or similar units of products or services are mass-produced, process
costing is used to calculate an average production cost for all units produced.
Cload doleal) A5 aladiind ahy ¢ 508 LSy Claadll o Clatiall (o dgliia 5l dailaie Cilas 5 72l &5 Ledie ¢ Jilial)
amiall cilas 5l puenl ZUY) 4SS o sia
Process-Costing cost categories "ilblaad) 4RI 4413 cilid
Process-costing systems separate costs into cost categories according to when costs are introduced into
the process. )
Aoleall 8 CallSil) Jla) g W5 285 il ) CallSal) Joads doleal) 4815 5008 dalail o 8
1. Direct materials are usually added at the beginning of the production process, or at the start of work
in a subsequent department down the assembly line.
el bad il 3aY and 6 deall Ay B gl ¢ 2Ly dlee Ay 85 8l 3 pall ALl S5 e Bale
2. Conversion costs are generally added equally along the production process.
Y Flee Jsh e (g il ple (S8 pal) CallSS il
In situations where this is not the case, additional categories of either direct materials or conversion
costs would need to be added.
Dl Cadlss ol 5 jilall ol gall (e dudlia) culid Adlia) cangy ¢ Jad) ga 138 Lead 6 Y Al sl &
Total Cost ) )

Total Units
Conversion costs = Direct Labor + Overhead Manufacturing

Process Costing =

Process-costing: three cases <Yl ¢ ;4 laal) ddl<
Let’s look at the process-costing process three ways:  (3h ¢l laad) 485 yaii Lbee o 31 Al Ugea
1. No beginning or ending work-in-process inventories. Llead) 8 Jandl £lgd) g) o2 3 5m il a3 Y
2. No beginning work-in-process inventory and some ending work-in-process inventory.
- i) a8 Jeal) (5550 any lllia g dleall 8 el ey 0 2 2 Y
3. Both beginning and ending work-in-process inventories are present.
335 5a Alanll (8 Jaall 3 a3l 8 Al 5 Ayl e US
Process costing — case 1 1 Allall - dlaat) 441<5
When using process costing without any beginning or ending work-in-process inventory, all costs that
were introduced to the process during the period will be assigned to the finished units leaving work-in-
process inventory at the end of the period.
IO Aleall Lapai o ) CadISil) e (and o ¢ Jasedill a8 Jaall ()5 53 o) sl Al (o ()5 Llenl) A4S alasil xie
5l Al b ) 38 Jaell 0 5 ol 5 ) dygial) las 1 ) 5 5l
Ex With Case 1: Pens Production 10,000 units, DM Cost $5,000, DL Cost $15,000, MOH Cost $10,000,
what is the Cost/Unit.
Bas gl /28K 4 Le ¢ ¥ 50 YT 10 MOH ¢ ¥ 52 15000 DL ¢ LY 53 5000 43l DM « 52a 5 10000 228Y1 z L)
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Total Cost __ $10,000+$5,000+$15,000 _ $30,000
Total Units 10,000 Unit " 10,000

Answer: Process Costing = = 3$/Unit

***The Company To produced 10,000 Units, Of Which 9,000 Units are completed But Remined (1,000
Unit) in the WIP Stage, and the Percentage of completed 60%, what is the cost/Unit?

, Total Cost  $10,000+$5,000+$15,000  $30,000 .
Answer: Pr = = - - - = - =3.12
Answer: Process Costing Total Units ~ 9,000+(1,000+60%) Unit 9,600 3 5$/Unit

4dla Baa g Equivalent unit aeie 600 Lisd 3355 1000 " Jall i shaiall Ldd " Lual yid) Al sla Jay o 5

Equivalent Units 4élSall ciaa gl)
7  Aderived amount of output units that: U oY) Glaa s (e Gl Hlaie
1. Takes the quantity of each input in units completed and in unfinished units of work in

process and

s Aalleall 08 ALaSA) e Jasdl Clas g 65 ALaSal) culaa gl 8 codlaae JS 4 33
2. Converts the quantity of input into the amount of completed output units that could be
produced with that quantity of input.
A (e LSl g Lealil) (Say il ALKl =AY cilaa 5 A8 ) DA LS Jsay
Are calculated separately for each input. (direct materials and conversion cost)
(sl A4S 5 3 p0al) o) sall) | J2a OIS Jemdin JS Canind
When calculating equivalent units, focus on quantities and disregard dollar amounts until after

the equivalent units are computed.
A s gl s ey s Y5l ald) Jalasy el e 5K ¢ Alslaal ilas gl Ol die

N¢

N¢

We use a five-step process to allocate costs under process-costing:
342 Al iy Cilaga ™ Gl ik ddae ) 8 GBS (amaddl G ghd Guad e dules aadid

Summarize the flow of physical units of output. Lokl Flay) Clas g (3035 il
Compute output in terms of equivalent units. Al Olaa gl Eua e Al yaall Gl
Summarize total costs to account for. Dkie ) (8 WA Gy ) Adlaa Yl il adl

Compute cost per equivalent unit. alaa 32a 5 JSI A8l Gl
Assign total costs to units completed and to units in ending work-in-process.
(el a8 Jaall elgd) (A clas gl 93 jaiall cilas gl AllaaY) CallSall (s

AW e

case 2 (no Beg WIP, some ending wip)
Ex with Case2: Company Started Producing in February (No Beginning), Started 400 Units, 175 are
completed, (400-175=225 End WIP inventory)
o The Conversion Costs are completion 60%
e Costs added during February
« Direct materials (DM)  $32,000
« Conversion Costs (C.C)  $18,000

Answer: Judadlly duadl) ) ghadl) o AlaY)

1. Summarize the flow of physical units of output
Units From Beginning WIP inventory 0 Units
Units Started during February 400 Units
Total Units to Account For 400 Units

Units Completed and Transferred Out | 175 Units
Units in Ending WIP inventory 225 Units
Total Units Accounted For 400 Units
Note: The Total Units to Account for Equal Usually the Total Units Accounted For
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2. Compute output in terms of equivalent units

DM C.C
Units Completed and transferred Out 175 175
Equivalent Units of Ending WIP inventory 225 (225 *100%) @ 135 (225 * 60%)
Total Output in terms of Equivalent Units 400 E. U 310E. U

E. U =Equivalent Units
3. Summarize total costs to account for
DM C.C Total Cost
Costs Added February $32,000 $18,600 $50,600
Total Cost to Account for  $32,000 $18,600 $50,600

4. Compute cost per equivalent unit

DM C.C

Total Cos to account for (Step 3) $32,000 $18,600

Total output in terms of E.U (Step 2) +400 +310

Cost/E. U $80 $60

5. Assign total costs to units completed and to units in ending work-in-process
DM C.C Total

Costs Assigned to units completed and Transferred Out = $14,000 (175*$80) @ $10,500 (175*$60) = $24,500
Costs Assigned to units in Ending WIP inventory $18,000 (225*$80)  $8,100 (135*$60) $26,100
Total Accounted For $32,000 $18,600 $50,600

Case 3 (WITH Beg WIP and ending wip)

Two Valuation Methods: 44N Alal) & Ua il o)l b
1- Weighted Average Method g sall Jau giall 48y 3k
2- FIFO Method Vol @i Yl 3 gl 48y

Method 1: Weighted Average Method
Z Process costing can be accomplished using the weighted-average method or the FIFO method. We'll
look first at weighted-average.

o) o i) Yl i FIFO 48k ol e el o siall 48 pha alasinly doleal) 4305 38a% (S

Z Calculates cost per/equivalent unit of all work done to date. (Regardless of the accounting period in
which it was done)
(Lo o AN Al 3 8l e plail) (asy) oY) s aiall Jeadl JST 488K Baa 5 JST AEIH] Cons

Z Assigns this cost to equivalent units completed and transferred out of the process, and to equivalent
units in ending work-in-process inventory.
Jasl) 38 Jaall ()5 j3e sl 3 4K calan sl 5 ¢ plenll A Ll g LS o3 ) S clan 5l 43I w38 Ganady

7 The Weighted-average cost is the total of all costs entering the work-in-process account divided by
the total equivalent units of work done to date.
LS Jasll Clas g Mea) Ao U sudie il a8 Joal) Gl Jaxs ) CadlSill S Maa) 52 e pal) ARISE Jaad gia
Al i b Sl o5 Al
Z The beginning balance of the work-in-process account (work done in a prior period) is blended in

with current period costs.
Allad) 3 al) CallSs aa (Al 3 8 (8 Saial) Jeall) Joadidll a8 Jeall Glia )y dua ) # 3 ab
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Ex with Case 3 Weighted-average cost

In the March, the company Beginning inventory are 225 Units (With February) " Dm_100% and
C.C_60%", the DM Costs $18,000 and C.C Costs $8,100. The company Started 275 Units during March
and DM Costs $19,800 and C.C Costs $16,380, When DM Completion 100% and C.C 50% with March. The
Units Completed 400 and Remined in Ending WIP inventory (100 Units), Assume the Company Use
Weighted-average cost Method

Answer:
1. Summarize the flow of physical units of output
Units From Beginning WIP inventory 225 Units

Units Started during February 275 Units
Total Units to Account For 500 Units
Units Completed and Transferred Out | 400 Units
Units in Ending WIP inventory 100 Units
Total Units Accounted For 500 Units
2.
DM C.C
Units Completed and transferred Out 400 400
Equivalent Units of Ending WIP inventory 100 (100 * 100%) @ 50 (100 * 50%)
Total Output in terms of Equivalent Units 500 E. U 450E. U
3. Summarize total costs to account for
DM C.C Total
Cost
Costs From Beginning WIP inventory | $18,000 $8,100 $26,100
Costs Added February $19,800 $16,380 $36,180
Total Cost to Account for $37,800 $24,480 $62,280
4. Compute cost per equivalent unit
DM c.C
Total Cos to account for (Step 3) $37,800 $24,480
Total output in terms of E.U (Step 2) +500 +450
Cost/E. U $75.6 $54.4
5. Assign total costs to units completed and to units in ending work-in-process
DM C.C Total
Costs Assigned to units completed and $30,240 (400*$75.6) $21,760 (400*$54.4) $52,000
Transferred Out
Costs Assigned to units in Ending WIP inventory = $7,560 (100*$75.6) $2,720 (50*$54.4) $10,280
Total Accounted For $37,800 $24,480 $62,280

Result of the Process  4ulal) A
Z Two critical figures arise out of step 5 of the cost allocation process:
PR (aads ddes (1 5 8 shil) (e Claga (e Ly
1. The amount of the journal entry transferring the allocated cost of units completed and sent

from work-in-process inventory to finished goods inventory
bl a8 Jandl (5 530 (e Al pall g ALKl Chlas ol diaind ol A8ISHN J gan éﬂl da gl iy JRa) Hlada
daginall ailiadll (5 350
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2. The ending balance of the work-in-process inventory account that will appear on the balance
sheet. Aaa saal) 433 ) (B elasi (M) Jasniddll ad (5 A Clual U aua )

Method 2: First-in, First-Out (FIFO) Yol iy Y 5i 3 )6 :2 45, jJal)
Z Assigns the cost of the previous accounting period’s equivalent units in beginning work-in-

process inventory to the first units completed and transferred out of the process.

U el ALl ) clan gl 1) sl 38 Jaal 5 38 Tl 8 ALl sl 5 il Alslaall cilaa g 245 (iny
Aolaall

7 Assigns the cost of equivalent units worked on during the current period first to complete
beginning inventory, next to started and completed new units, and finally to unitsin ending
work-in-process inventory.

sl Cilas gl Cuilasy ¢ &5 Al Aoy JLSY Y ) Al 3 il JMA Ledde Jaall &8 ) 238K Slas 1) 2815 (pn,y
o) a8 Jaal (ys 3aa olg) 3 culas g1 T sl 5% ALasall 5 e sl 3 )

Z Adistinctive feature of FIFO process-costing method is that work done on beginning inventory is

kept separate frqm work done in the current period.
Jaiall Jasdl o Slaiie dly o5 3l 430a 8 Jaiall Jasdl o FIFO dalee 48185 Cilaial 43 5k 5 jpaal) ciland) (40
“ Adlall syl &
7z There is no blending of costs as we saw with the weighted-average method.
el Lo giall 48 )l ae L) LS CallSl - e aa g Y
Ex with Case 3_FIFO
In the March, the company Beginning inventory are 225 Units (With February) " Dm_100% and
C.C_60%", the DM Costs $18,000 and C.C Costs $8,100. The company Started 275 Units during March
and DM Costs $19,800 and C.C Costs $16,380, When DM Completion 100% and C.C 50% with March. The
Units Completed 400 and Remined in Ending WIP inventory (100 Units), Assume the Company Use FIFO

Method
Answer:
1. Summarize the flow of physical units of output
Units From Beginning WIP inventory 225 Units

Units Started during February 275 Units

Total Units to Account For 500 Units

Units Completed and Transferred Out"400"

Units From Beginning WIP inventory 225 Unit

Units Started and Completed 175 Unit

Units in Ending WIP inventory 100 Units

Total Units Accounted For 500 Units

2. Compute output in terms. of equivalent units
DM c.C

Units Completed and transferred Out (225 * 0%) =0 Unit = (225 * 40%) = 90 Unit
Units Started and Completed 175 175
Equivalent Units of Ending WIP inventory 100 (100 * 100%) 50 (100 * 50%)
Total Output in terms of Equivalent Units  275E. U 315E. U

5\4‘.;3062)@_5@&&\)@_&3\c()‘g_.ﬂuuo,q175;225)400(»5JS;)E}?AMA@‘MJ}\@U;Q}A 433N
O ke (oA Jai¥) A CulS C.C Ll « %0 8 agd SVl daud 3 el el 1aa o) &b Jixd %100 52 DM & )
3 e 0 e 2 ey iaie e %40 o Ue Jua il 9% 60
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3. Summarize total costs to account for

DM C.C Total
Cost
Costs From Beginning WIP inventory  $18,000 $8,100 $26,100
Costs Added February $19,800 $16,380 $36,180
Total Cost to Account for $37,800 $24,480 $62,280
4. Compute cost per equivalent unit
DM C.C
Total Cos to account for (Step 3) $19,800 $16,380
Total output in terms of E.U (Step 2) +275 +315
Cost/E. U $72 $52
5. Assign total costs to units completed and to units in ending work-in-process
DM Cc.C Total
Costs From Beginning WIP inventory $18,000 $8,100 $26,100
Costs Assigned to units completed and S0 (0*S72) $4,680 (90*$52) $4,680
Transferred Out
Costs Started and Completed $12,600 (175*S572) $9,100 (175*$52) $21,700
Costs Assigned to units in Ending WIP inventory = $7,200 (100*$72) $2,600 (50*$52) $9,800
Total Accounted For $37,800 $24,480 $62,280

Result of the Process (no change from weighted average)  (z>sall hugiall o s ¥) dulaad) Api
Z Two critical figures arise out of step 5 of the cost-allocation process:
PAAS) (asads ddes (1 5 8 shil) (e Claga (e Ly
1. The amount of the journal entry transferring the allocated cost of units completed and
sent from work-in-process inventory to finished goods inventory.
Jardall a8 Jaall (5 530 (e A pall g ALKl Slas 5l daiadall ASSE J gay (o3 dpa gall s JIA) dlae
3ol pladl o5 3
2. The ending balance of the work-in-process inventory account that will appear on the
balance sheet.
o sanll Al jaall 3 selane (530 sl 28 ()5 3l el il a1 2
Comparing weighted-average and FIFO methods
Z FIFO assumes that all the higher-cost units (from our example) from the previous period in
beginning WIP are the first to be completed and transferred out and that ending WIP consists of
only the lower-cost current-period units.
Ay A Y o aaill a8 Jead) Ayl 8 AL 5 3l (e (Wa (pe) A8ISE oY) Cilas gl aes () FIFO (ia i
A Tmiate el 5l Cilas 5 (pe T ()5S ) 8 el eled) o5 AT ) Ll L)
Z The weighted-average method smooths out the cost per equivalent unit by assuming that
lower-cost units are transferred out and some higher-cost remain in ending WIP.
) A Amitie o sl (g hall S al il e san 5 JSIASSH Jgasi e e el o siall 48l Jand
A a8 Jaall olgd) (A oY) AU (any ol aa A
Z Managers use information from process-costing systems to make pricing and product-mix
decisions and understand how well a firm’s processes are performing.
Clilas o1 33 9a (530 agh s Claiiall g o g sl ) ) 8 HASY Llead) A8 508 dalail (e e slaall ()5 el axiiiny
A8,
FIFO provides managers with information about changes in the costs per unit from one period to
the next.

N¢

A 858 e saa s S il 8l i) Jga Slaslae (s paall FIFO s
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Z Ina period of rising prices, the weighted-average method will decrease taxes because cost of
goods sold will be higher and operating income lower.
daally lef o sSin delual) adlcadl 485 (Y (0l juall (it o e el o siall 48y yha Janios ¢ jlansl) gl ) 3 56 8
g

Additional Question 4:fLaYy) ALiuy!
Q1: Circle the correct answer
1. Costing systems that are used for the costing of like or similar units of products in mass
production are called:
a. inventory-costing systems
b. job-costing systems
C. process-costing systems
d. weighted-average costing systems

2. Process costing should be used to assign costs to products when the:
a. units produced are similar
b. units produced are dissimilar
c. calculation of unit costs requires the averaging of unit costs over all units produced
d. Either A or C are correct.

3. Which one of the following statements is true?
a. Inajob-costing system, individual jobs use different quantities of production resources.
b. Ina process-costing system each unit uses approximately the same amount of resources.
c. Anaveraging process is used to calculate unit costs in a job-costing system.
d. Both A and B are correct.

4. Conversion costs:
a. include all the factors of production
b. include direct labor and overhead
c. in process costing are usually considered to be added evenly throughout the production process
d. Both B and C are correct.

5. The purpose of the equivalent-unit computation is to:

a. convert completed units into the amount of partially completed output units that could be
made with that quantity of input

b. assist the business in determining the cost assigned to ending inventory and work-in-process
inventory.

c. convert partially completed units into the amount of completed output units that could be
made with that quantity of input

d. Both B and C are correct.

6. In a process-costing system, the calculation of equivalent units is used for calculating:
a. the dollar amount of ending inventory
b. the dollar amount of the cost of goods sold for the accounting period
c. the dollar cost of a particular job
d. Both A and B are correct.

7. In a process-costing system when goods move from department to department, the accounting
for such transfers is relatively simple under:
A) standard costing B) FIFO costing
C) weighted-average costing D) operations costing
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8. The weighted-average process-costing method calculates the equivalent units by:
a. considering only the work done during the current period
b. the units started during the current period minus the units in ending inventory
c. the units started during the current period plus the units in ending inventory
d. the equivalent units completed during the current period plus the equivalent units in ending
inventory

9. |If there was no beginning work in process and no ending work in process under the weighted-
average process costing method, the number of equivalent units for direct materials, if direct
materials were added at the start of the process, would be:

a. equal to the units started or transferred in
b. equal to the units completed

c. less than the units completed

d. Both A and B are correct.

10. Under the weighted-average method, the stage of completion of beginning work in process:
a. isrelevant in determining the equivalent units
b. must be combined with the work done during the current period to determine the equivalent
units
c. isirrelevant in determining the equivalent-unit calculation
d. can almost always be determined with a high degree of precision

Answer the following questions using the information below:

The Lumbar Chair Company manufacturers a standard recliner. During February, the firm's Assembly
Department started production of 150,000 chairs. During the month, the firm completed 170,000 chairs
and transferred them to the Finishing Department. The firm ended the month with 20,000 chairs in
ending inventory. All direct materials costs are added at the beginning of the production cycle.
Weighted-average costing is used by Lumbar.

11. How many chairs were in inventory at the beginning of the month? Conversion costs are incurred
uniformly over the production cycle.
a. 10,000 chairs
b. 20,000 chairs
c. 30,000 chairs
d. 40,000 chairs

12. What were the equivalent units for materials for February?
a. 190,000 chairs
b. 170,000 chairs
c. 160,000 chairs
d. 150,000 chairs

13. What were the equivalent units for conversion costs for February if the beginning inventory was
70% complete as to conversion costs and the ending inventory was 40% complete as to conversion

costs?

a. 178,000
b. 150,000
c. 170,000
d. 190,000
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14.

15.

16.

17.

18.

19.

20.
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Of the 150,000 units Lumbar started during February, how many were finished during the month?
a. 150,000
b. 170,000
c. 130,000
d. 190,000

A distinct feature of the FIFO process-costing method is that the:

a. work done on beginning inventory before the current period is blended with the work done
during the current period in the calculation of equivalent units

b. work done on beginning inventory before the current period is kept separate from the work
done during the current period in the calculation of equivalent units

c. work done on ending inventory is kept separate from the work done during the current period
in the calculation of equivalent units and is usually not included in the calculation

d. FIFO process-costing method is only minimally different from the weighted-average process-
costing method

An assumption of the FIFO process-costing method is that:

a. the units in beginning inventory are not necessarily assumed to be completed by the end of the
period

b. the units in beginning inventory are assumed to be completed first

c. endinginventory will always be completed in the next accounting period

d. no calculation of conversion costs is possible

Operating income can differ materially between the results for the weighted-average and FIFO

methods when:

a. direct materials or conversion costs per unit vary significantly from period to period

b. the physical inventory levels of work in process are large relative to the total number of units
transferred out

c. Neither of these answers is correct.

d. Both of these answers is correct.

A major advantage of using the FIFO process-costing method is that:

a. FIFO makes the unit cost calculations simpler

b. in contrast with the weighted-average method, FIFO is considered GAAP
FIFO provides managers with information about changes in the costs per unit from one period
to the next

d. All of these answers are correct.

Transferred-in costs are treated as if they are:

a. conversion costs added at the beginning of the process

b. costs of beginning inventory added at the beginning of the process
c. direct labor costs added at the beginning of the process

d. aseparate direct material added at the beginning of the process

An operation costing system would be applicable to:

a. batches of similar products where each batch is a variation of a single design
b. the construction of a bridge

c. asuit-making operation

d. Both A and C are correct.
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Q2: Indicate whether each of the following statements is true or false.

True
True
False

False
True

True

False

True

False
True

1.
2.
3.

4.
. In a process-costing system, there is always a separate Work-in-Process account for each

6.

7.

8.

9.

Examples of industries that would use process costing include the soft-drink bottling and oil
industry.

Process-costing systems separate costs into cost categories according to the timing of when
costs are introduced into the process.

Job-order costing would be most likely used by a firm that produces homogeneous
products.

The last step in a process-costing system is to compute cost per equivalent unit.

different

Equivalent units in beginning work in process PLUS equivalent units of work done in the
current period MINUS equivalent units completed and transferred out in the current period
EQUALS equivalent units in ending work in process.

To calculate weighted-average conversion cost per equivalent unit, you multiply total
conversion costs to date by total equivalent units of work done to date.

Weighted-average cost per equivalent unit is obtained by dividing the sum of costs for
beginning work in process plus costs for work done in the current period by total equivalent
units of work done to date.

Standard costing is NOT possible in a firm that uses process costing.

10. In companies that produce masses of identical or similar units of output and consequently

use process-costing systems, it is relatively easy to set standards and use a standard cost
as the cost per equivalent unit.

Jaady A8 ey 58 A sl o ™ U Al lllin (585 s ¢ aginad Y ila s Al (g sl a iAB3a0

"Magde Gulaill 4 agegd" LI sl (KGN ABGYT Ja e aSUY a4+

END OF CHAPTER 17
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Z Spoilage—units of production, whether fully or partially completed, that do not meet the
specifications required by customers for good units and that are discarded or sold for reduced
prices.
sl il ol Gl I 8 (e 4 sladd) clieal sally &Y Sl ¢ G5 AlaiSa o AlaiSe ST o) g ¢ LY Silas 5 - A

Amiie Jlads lnw o Lie Galatll iy il

Z Rework—units of production that do not meet the specifications required by customers but that are
subsequently repaired and sold as good finished goods.

S gieall Al wlu€ B Y a5 LeaSa) oy (81 ¢l 3l J (e 4y sllaall cilial sally a5 Y ) ZUY) Clas 5 - Jaadl Bals)
7z Scrap—residual material that results from manufacturing a product. Scrap has low total sales value
compared with the total sales value of the product.

giiall Cilage fad Jlaals 4 jlie dnidio dllan) Cilaye e e 53,80 (5 it geiial) g (e Al Agsial) ) sall - 33 Al

®m  Scrap arises as a residual from the manufacturing process and is not a product targeted for
manufacture or sale by the firm.
ASAN U8 (e dny sl Amgiail Bagiue Wile a5 ariaill dlee e clilaag 33 al) L

Accounting for Spoilage «lill ¢ Lilaal)

Z A certain amount of spoilage, rework or scrap is inherent in many production processes.

WY cllee e wall 3 Jualic 8330 f Jeall 3l gl Al e Uina 1538 )

Z Accounting for spoilage aims to determine the magnitude of spoilage costs and to distinguish
between costs of normal and abnormal spoilage:

G:_\.\LS\ ‘)4;}‘_,,.:_\.\)33\uﬂ\uﬂ&wM\;uﬂ\uﬂ&PmmbﬂuﬂA\uh&uA@

Z To manage, control, and reduce spoilage costs, they should be highlighted, not simply folded into

production costs.

L) IS L 3 e Gy ¢ Lol penl) Tl oy ¢ A s (S 5 281 a5 )Y

Two Types of Spoilage: Ll e Gl 5
1. Normal spoilage is spoilage inherent in a particular production process that arises even under
efficient operating conditions.
Alladl) Jaaezill g yka Jha b s Ly dime ) dlee (8 Jealia Gl ga (el (A0
®  Normal spoilage rates are computed by dividing the units of normal spoilage by total
good units completed, not total actual units started in production.
¢ ALl sall cilaa sl sl e aslall Calil Cilas g dansy asall Calill Y ane s
Y 8l ) Aledl) Clas gl Maa) G s
2. Abnormal spoilage is spoilage that is not inherent in a particular production process and would not
arise under efficient operating conditions.
Aladl Gl Cag ks Jla b Uiy V5 Qe ) Al 8 Jualiad) pe Gl gl pd il
a. Abnormal spoilage is considered avoidable and controllable.
Agle 5 plapudl g asind (K 1 el aplall e BN ey
b. To highlight the effect of abnormal spoilage costs, companies calculate the units of
abnormal spoilage and record the cost in the Loss from Abnormal Spoilage account, which
appears as a separate line on the income statement.
Jinadi g rdall e Calill a5 Ciluay S 3 o g ¢ Apnall e Calil) (allSs i e ¢ gaall ol
A ol 3 Jeaiie Sl jelay il ¢ anall e G e s jludd) s 8 A4l

Spoilage in Process Costing using weighted average and fifo costing
fifo 9 g el Jacw giall aladiualy dylead) 4dls 6 Calil
Z Units of normal spoilage can be counted or not counted when computing output units (physical
or equivalent) in a process costing system.
Aoleall A5 Hlas 3 (Ledobay Lo sl dpalall) ] AY) cilas s s die Lgglasial axe ol opndall Gl Cilas 5 Gl (S0
Z Counting all spoilage is considered preferable and will be used in our examples here.
i Ugal AN 3 dladin) S g S | el i) JS Ol yiing
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Inspection Points and Spoilage <ilill g (iadil) Jalds
7 Inspection point—the stage of the production process at which products are examined to
determine whether they are acceptable or unacceptable units.

Asie pe ol Wsie Glan g CilS 13) Le ppant] Claiiall and Led o5 Sz LY dilee dls ya - (Al Adaks

Z Spoilage is typically assumed to occur at the stage of completion where inspection takes place.
o) Q) G Sl Als ye A dhaay Gl ) Bale (i)
As a result, the spoiled units in our example are assumed to be 100% complete for direct materials.
38kl 3 sall 7100 dpesy ALalS Wllia 3 A8 Colas 1) (0 65 o (2 yidh ¢ SN A

N¢

The Five-Step Procedure for Process Costing with Spoilage (slight modifications to accommodate

spoilage) () lafioey ddyila idant) ALl aa dglead) ARIST a8 <l ghad (el (14 £ 1)
Z Step 1: Summarize the flow of physical units of output—identify both normal and abnormal
spoilage. bl ye 5 anhll Calill as - Agalal) ZLEY) Clas g (3885 (adl 11 8 ghdl)
Z Step 2: Compute output in terms of equivalent units. Spoiled units are included in the

computation of output units.
ZIOAY) @i g Clia 8 3aulal) las gl el 2y 2SS Clas dl) Cua e Sla ) Clia 12 8 gladld

7  Step 3: Summarize total costs to account for.  JLic¥) & LAl iy ) oISl Jlaa) il 13 5 ghadl
Z Step 4: Compute cost per equivalent unit. alaa 32 g JSI AEH) il 14 5 ghadl)
7 Step 5: Assign total costs to: S AlaaY) Callsall (st 15 3 gadld)

Z  Units completed 3 jaiall Cilas gl

Z Spoiled units dalill clas )

Z Unitsin ending work-in-process ~ 4leall & Jaall 45 8 s )

In this example, we have no beginning work-in-process but do have ending work-in-process.

g Dol B e U 0515 ) b o oty L ol ¢ il 13 B
Ex: the WIP beginning 1500 unit (100% Dm and 60% CC) and 8500 units with started during July. Good
units completed and TO during July 7,000 and WIP, ending inventory 2,000 (100% Dm and 50% CC).
Normal spoilage as a % of good units is 10% and Normal and abnormal spoilage Degree of completion is

100%
) gl Cililanal (il
WIP, beginning inventory (Feb. 1) 1,500 $12,000 $9,000 $21,000
(100% complete for
DM, 60% for CC)
Started during July 8,500
Good units completed and TO during July 7,000
WIP, ending inventory 2,000
Degree of completion of ending WIP 100% 50%
Total costs added during Feb. $76,500 $89,100 $165,600
Normal spoilage as a % of good units 10%
Normal and abnormal spoilage Degree of 100% 100%
completion
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Step 1: Summarize the flow of physical units of output—identify both normal and abnormal spoilage.
Units From Beginning WIP inventory 1,500 Units
Units Started during February 8,500 Units
Total Units to Account For 10,000 Units
Good units Completed and Transferred Out 7,000 Units
Normal spoilage (10% * 7,000) 700 Units
Abnormal spoilage (1000 — 700) 300 Units
Units in Ending WIP inventory 2,000 Units
Total Units Accounted For 10,000Units
DM Cc.C
Good units Completed and Transferred Out 7,000 7,000
Normal spoilage 700 700
Abnormal spoilage 300 300
Units in Ending WIP inventory 2,000 1,000
Total Output in terms of Equivalent Units 10,000 E. U 9,000 E. U
Step 3: Summarize total costs to account for.
DM C.C Total
Cost
Costs From Beginning WIP inventory = $12,000 $9,000 $21,000
Costs Added during the month $76,500 $89,100 $165,600
Total Cost to Account for $88,500 $98,180 $186,600
Step 4: Compute cost per equivalent unit.
DM c.C
Total Cost to account for (Step 3) $88,500 $98,180
Total output in terms of E.U (Step 2) +10,000 @ +9,000
Cost /E.U $8.85 $10.9
Step 5: Assign total costs
DM C.C Total
Costs Assigned to good units completed and $61,950 (7,000*%$8.85)  $76,300 (7,000%¥$10.9) = $135,250
Transferred Out
Costs Assigned to normal Spoilage (700) $6,195 (700*58.85) $7,630 (700*$10.9) $13,825
Total Cost to Assigned of good units & T.O S 68,145 S 86,930 $152,057
Costs Assigned to Abnormal Spoilage (300) $2,655 (300 * $8.85) $3,270 (300 * $10.9) $5,925
Costs Assigned to units in Ending WIP inventory = $17,700 (2,000*$8.85)  $10,900 (1,000*$10.9) @ $28,600
Total Accounted For $88,500 $101,100 $189,600
Journal Entries
Finished Goods Inventory 152,075
WIP Inventory 152,075
Loss from Abnormal Spoilage 5,925
WIP Inventory 5,925
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MUY ) adlad) B aa) gia Gad 138 114" FIFO Ak (g8 Sl cililamall Gl g Jlipead)

Units From Beginning WIP inventory 1,500 Units
Units Started during February 8,500 Units
Total Units to Account For 10,000 Units
Good units Completed and Transferred Out
From Beginning WIP inventory 1,500 Units
Units Started & completed (7,000 — 1,500) 5,500 Units
Normal spoilage (10% * 7,000) 700 Units
Abnormal spoilage (1000 — 700) 300 Units
Units in Ending WIP inventory 2,000 Units
Total Units Accounted For 10,000Units
DM c.C
Equivalent units Completed Beginning inventory as 0 600
goods units (0*1,500) (40%*1,500)
Good units started & completed during month 5,500 5,500
Normal spoilage 700 700
Abnormal spoilage 300 300
Units in Ending WIP inventory 2,000 1,000
Total Output in terms of Equivalent Units 8,500 E. U 8,100 E. U
Step 3: Summarize total costs to account for:
DM C.C Total
Cost
Costs From Beginning WIP inventory | $12,000 $9,000 $21,000
Costs Added during the month $76,500 $89,100 $165,600
Total Cost to Account for $88,500 $98,180 $186,600
Step 4: Compute cost per equivalent unit.
DM c.C
Total Cost during the month (Step 3) $76,500 $89,100
Total output in terms of E.U (Step 2) + 8,500 + 8,100
Cost /E.U $9 s11
Step 5: Assign total costs
DM C.C Total
Costs From Beginning WIP inventory $12,000 $9,000 $21,000
Costs Assigned to Completed Beginning SO $6,600 (600 * $11) $6,600
inventory as goods units
Costs Assigned to good units started and $49,500 $60,500 $110,000
Completed during the month (9 * 5,500) (11 * 5,500)
Cost before added normal Spoilage $61,500 $76,100 $137,600
Costs Assigned to normal Spoilage (700) $6,300 (700*59) $7,700 (700*$11) $14,000
Total Cost to Assigned of good units & T.O $ 67,800 S 83,800 $151,600
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Costs Assigned to Abnormal Spoilage (300) $2,700(300 * $9) $3,300 (300 * $11) $6,000
Costs Assigned to units in Ending WIP inventory = $18,000 (2,000*$9) $11,000 (1,000*$11) $29,000
Total Accounted For $88,500 $98,100 $186,600

Job Costing and Spoilage <ilill g Jaall cill<s
7 Job-costing systems generally distinguish between normal spoilage attributable to a specific job

from normal spoilage common to all jobs.

Job Costing and Accounting for normal Spoilage attributable to a specific job
L.,aaa.s&h‘guii Qdall aplall alil) o dlaal) g A48 gl AT Class
When normal spoilage occurs because of the specifications of a particular job, that job bears the cost of

the spoilage minus the disposal value of the spoilage.
LA e aldil) e Lgia A Hlae Calil) A8ISH Jaati dduda gll elli (Gl ¢ disae Al 5 Cliial 9o e andall Calil) Guaay Laxie

Ex: In the Hull Machine Shop, 5 aircraft parts out of a job lot of 50 aircraft parts are spoiled. The costs
assigned prior to the inspection point are $2,000 per part. When the spoilage is detected, the spoiled
goods are inventoried at $600 per part, the net disposal value.
by J8 dpmall S 3 5ilda daad 50 (0 4 sSe Ao sann o Dl il jle adal § <dli ¢ Hull Machine Shop
Ay ;PJSSJYJJGOOCLAJ‘UJU\CALAJ\ Jﬁeﬁgcdﬂ\&@iﬁ‘eﬁguﬁs cﬁdﬁ)\}]}dzooo‘;& claginy)
o=lall deg il
Assuming spoilage is attributable to that specific job: 533l 4ida gl Gl ) (g s alil) o) () bl
Materials Inventory (5 units * $600) 3,000
Work-in-Process Inventory- specific job (5 units * $600) 3,000

Job Costing and Accounting for normal Spoilage common to all jobs
il gl anand adlal) adal) CALY dpulaa g Jead) CalIST Gludial
Z Insome cases, spoilage may be considered a normal characteristic of the production process.
Y el L plall Gaibiadll (o Gl lie] Sy ¢ SV (any
B The spoilage is costed as manufacturing overhead because it is common to all jobs.
il gl asan 8 alE Y dalall aiaill CallS il e calil) Clasial oy
®  The budgeted manufacturing overhead rate includes a provision for normal spoilage.
(g alall il madia 4 juall b syl dalal) gieaill CallSS Jana Jadi
Back to the previous example, and assuming that spoilage is common to all jobs:
il gl aran (B adld Al of Gl Bl ¢ bl U ) B3 gl
Materials Inventory (5 units * $600) 3,000
Manufacturing Overhead Control (510,000 - $3,000) 7,000
Work-in-Process Inventory (5 units * $2,000 per unit) 10,000

Job Costing and Accounting for abnormal spoilage &=kl & Gl dulaa g Jardl G Gilua
7 If the spoilage is abnormal, the net loss is charged to the Loss from Abnormal Spoilage Account.
(ornhll e alill Clia e 3Ll e Adlall 3 jludl) Jaead oy ¢ anda jee Bl IS 1Y)
®  Abnormal spoilage costs are not included as a part of the cost of good units produced.
Aatiall sl Clas ) AESE (e o jaS Apalall e Calil CallSS (el 5 Y
journal entry should be as follows
Materials Inventory 3,000
Loss from Abnormal Spoilage 7,000
Work-in-Process Inventory 10,000
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Q1: Circle the correct answer

1.

CH18 - ACCT335 (COST) el

Additional Question 4élay) ALy

Unacceptable units of production that are discarded or sold for reduced prices are referred to as:
a. reworked units

b. spoilage

c. scrap

d. defective units

Unacceptable units of production that are subsequently repaired and sold as acceptable finished

goods are:

a. reworked units
b. spoilage

C. scrap

d. defective units

Material left over when making a product is referred to as:
a. reworked units

b. spoilage

c. scrap

d. defective units

Spoilage that is an inherent result of the particular production process and arises under efficient
operating conditions is referred to as:

a. ordinary spoilage

b. normal spoilage

c. abnormal spoilage

d. None of these answers is correct.

Spoilage that should NOT arise under efficient operating conditions is referred to as:
A) ordinary spoilage

B) normal spoilage

C) abnormal spoilage

D) None of these answers is correct.

Costs of abnormal spoilage are usually accounted for as:
a. part of the cost of goods sold

b. part of the cost of goods manufactured

c. aseparate line item in the income statement

d. anassetin the balance sheet

Normal spoilage should be computed using as the base the:
a. total units completed

b. total good units completed

c. total actual units started into production

d. None of these answers is correct.

Companies that attempt to achieve zero defects in the manufacturing process treat spoilage as:
a. scrap

reworked units

abnormal spoilage

normal spoilage

a0 o

|Page6

S-HUB.com Uploaded By anonymous



CH18 - ACCT335 (COST) el
e (pdll slua

9. Recognition of spoiled units when computing output units:
a. highlights the costs of normal spoilage to management
b. distorts the accounting data
c. focuses management's attention on reducing spoilage
d. Both A and C are correct.

Q2: Indicate whether each of the following statements is true or false.

True 1. Some amounts of spoilage, rework, or scrap are inherent in many production processes.

True 2. Rework is finished production that is NOT in accordance with customer desires. The
product is redone and sold as finished goods

False 3. Scrap and rework are considered to be the same thing by managerial accountants.

True 4. The costs of normal spoilage are typically included as a component of the costs of good

units manufactured.

False 5. Abnormal spoilage is spoilage that should arise under efficient operating conditions

True 6. Spoilage can be considered either normal or abnormal.

True 7. Costs of abnormal spoilage are separately accounted for as losses of the period

False 8. The first step in the five-step procedure for process costing with spoilage is to compute the
output in terms of equivalent units

False 9. Counting spoiled units as part of output units in a process-costing system usually results in
a higher cost per unit

True 10. Spoilage is typically assumed to occur at the stage of completion where inspection takes
place.

Q3: Roku Electronics manufactures universal power adapters at its Desert Sands plant. The
company provides you with the following information regarding operations for April 2014:
Z Total power adapters manufactured 10,000
Adapters rejected as spoiled units 375
Total manufacturing cost $400,000
Assume the spoiled units have no disposal value.
What is the unit cost of making the 10,000 universal power adapters?
What is the total cost of the 375 spoiled units?
If the spoilage is considered normal, what is the increase in the unit cost of good adapters
manufactured as a result of the spoilage?
4. |If the spoilage is considered abnormal, prepare the journal entries for the spoilage incurred.

Solution:
1. The unit cost of making the 10,000 power adapters is:

$400,000 + 10,000 units = $40 per unit

W N = N NC NG N

2. The total cost of the 375 spoiled units is:
S40 x 375 units = $15,000
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3. The increase in the per-unit cost of goods sold as a result of the normal spoilage is:
$15,000 + 9,625 good units = $1.56

Unit cost of goods sold for units remaining after the spoilage = $40 + $1.56 = $41.56.
(Or $400,000 + 9,625 = $41.56)

4. The $15,000 cost for the 375 spoiled units is taken out of manufacturing costs and expensed in the
period of the spoilage. The journal entry to record the abnormal spoilage incurred is:
Loss from abnormal spoilage 15,000
Work-in-process control 15,000

Q5: For each of the following items identify whether it is spoilage, reworked units, or scrap
a. Defective jeans sold as seconds
b. Shavings
c. Edges from plastic moldings
d. Carpets sold as seconds
e. Precision tools that are not built successfully to the necessary tolerance, but which can be
successfully converted to a saleable product
f. Rock extracted as a result of mining processing
g. Complex defective products such as semiconductors

Answer:
a. spoilage b. scrap c. scrap d. spoilage
e. spoilage and rework f. scrap g. spoilage (usually too complex to rework)

Q6: Jellyfish Machine Shop is a manufacturer of motorized carts for vacation
resorts. Patrick Cullin, the plant manager of Jellyfish, obtains the following information for Job #10 in
August 2014. A total of 46 units were started, and 6 spoiled units were detected and rejected at final
inspection, yielding 40 good units. The spoiled units were considered to be normal spoilage. Costs
assigned prior to the inspection point are $1,100 per unit. The current disposal price of the spoiled units
is $235 per unit. When the spoilage is detected, the spoiled goods are inventoried at $235 per unit.
1. What is the normal spoilage rate?
2. Prepare the journal entries to record the normal spoilage, assuming the following:
a. The spoilage is related to a specific job.
b. The spoilage is common to all jobs.
c. The spoilage is considered to be abnormal spoilage.

Solution:

1. Normal spoilage rate= Units of normal spoilage + Total good units completed
=6+40
=15%.

2. Journal entry for spoilage related to a specific job:
Materials Control (spoiled goods at current disposal value) 6 x $23 1,410
Work-in-Process Control (Job #10) 1,410
b. Journal entry for spoilage common to all jobs:
Materials Control (spoiled goods at current disposal value) 6 x $235 1,410
Manufacturing Overhead Control (normal spoilage) 5,190
Work-in-Process Control (Job #10) 6,600

c. Journal entry for abnormal spoilage:
Materials Control (spoiled goods at current disposal value) 6 x $235 1,410

|Page8

S-HUB.com Uploaded By anonymous




CH18 - ACCT335 (COST) el
e (pdll slua

Loss from Abnormal Spoilage 6 x $865 5,190
Work-in-Process Control (Job #10) 6,600

Q7: Identify the appropriate order of the following steps in the procedure for process costing with
spoilage.

a. summarize total costs to account for

b. assign total costs to units completed, to spoiled units, and to units in ending inventory

¢. summarize the flow of physical units

d. compute output in terms of equivalent units

e. compute cost per equivalent unit

Step 1

Step 2

Step 3

Step 4

Step 5

Answer:

Step 1 c. summarize the flow of physical units

Step 2 d. compute output in terms of equivalent units

Step 3 a. summarize total costs to account for

Step 4 e. compute cost per equivalent unit

Step 5 b. assign total costs to units completed, to spoiled units, and to units in ending inventory

END OF CHAPTER 18

|Page9

1 L~

S-HUBcom Uploaded By anonymous



CHAPTER S

Activity-Based
Costing
AS adlsil) juaes
il U.A\.u\

STUDENTS-HUB.com Uploaded By: anonymous



CH5 - ACCT335 (COST) uasili
e (pdll slua

Z Recall that plant overhead is applied to production in a rational systematic manner, using some
type of averaging. There are a variety of methods to accomplish this goal.
Ain o siall (g0 p 55 AR ¢ g (S Adlie 3y ylay Y1 e Al 2 5ot e pimal) RIS o S
(caagl) 13 (el Cullu) (e de st Ao sana
Z These methods often involve trade-offs between simplicity and realism.

Aad) gl g Adalaa) (o ciliatia ¥ o3 yaati Lo Gl
Simple Methods Can be inaccurate Aady ye Aapl) 3kl <5
Complex Methods Usually more accurate Ay S 5 <6 L sale Baiall (5 yl)

Plantwide & Department OVERHEAD CALCULATIONS  awdlly phaall (5 gima do duluall cililal)
7 Plantwide Overhead Rate: gicaall ;s gicua o dalall Ciliall) Jaza
Total Estimated Overhead* /Total Estimated Base** 3 iiall 32018 Jlaa) / 3 kel dalad) cilidil) Nlaa)
*Obtain total of all overhead costs to be allocated.
Lpanadd abs Al Al CallSill paa Jlea) e Jpasl) *
** Determine best “base” — direct labor hours, machine hours, etc.
Al D) L ¢ daslall Jae cilelas ¢ 3 bl gend) cile L - "sac 8" Jizadl ayan *
This rate is used to allocate overhead costs to all products.
Clatiall gaead Aalall CullSall anasil Janal) 134 a0ty
7 Dept Overhead Rate: axill ddlal) clBdil) Jana

Similar concept except overhead cost pools and selected base is obtained by department.
SO Ja (e 3 )ial) 3aeldl) e Jpeanll Aty dalal) CadlSill Claans oLl Jiles o seia

For our example, let’s say we have Department A and Department B with overhead costs of $300,000
and $450,000, respectively. We might also use different bases for each department. In our example, we
will use DLH for Department A and Machine Hours for Dept B.
2o g Wl padivs a8 i) e ¢ ¥ 0 all 450 5 Y 52 300000 alii dsle adlSiy " andll o "I asdll Ll G (2 yidal
B il Jlgall doe el s A puadll DLH padiusins ¢ Wl aud JS) alid,

Dept A Dept B

O/H $300,000 $450,000
DLH 8,000 7,000
MH 750 1,200

1. Whatis Overhead allocation in Department A and Department B?
2. What is single Plantwide Rate?

Solution:
1. Overhead allocation in Department A would be $300,000 / 8000 (DLH) or $37.50 per DLH
Overhead allocation in Department B would be $450,000 / 1200 (MH) or $375.00 per MH
2. Based on DLH: $750,000 / 15,000 or $50.00/DLH
Based on MH: $750,000 / 1,950 or $384.62/MH

Broad Averaging ¥ Jau giall
Z Historically, firms produced a limited variety of goods and at the same time, their indirect costs were
relatively small.
i 8y 5 bl e LASE Cul€ ¢ A B gl g ¢ aludl (e B2 gane Ao sama IS ) canil ¢ Ly s
7z Allocating overhead costs was simple: use broad averages to allocate costs uniformly regardless of
how they are actually incurred. )
Sl LSS LaS e Hlaill (s 3a ge JS8 IS a5 5l A 5 il s padiiul s 1 5al alall IS Ganads oIS
®m  Generally known as “Peanut-butter costing” (perhaps because it is spread evenly??)
(99 o sbuills Ly 5 58 iy 40y Lay ) (S gl J sl By A" il Wagae s
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7 The end-result: 4xlgll 4l
®m  Products using fewer resources are over-costed and products using more resources are
under-costed.
AR B 3 ) sall (e 2y dall padiiod ) claiiall g el ddaaly ¢ 55 JB 3 ) ge padind ) cilaiial)
Overcosting—a product consumes a low level of resources but is allocated high costs per unit.
By S Ale (S anadd oy (S o ) sall (e Unddia (5 siue pritall ellging - Bl 3 ddtsil)
7 Undercosting—a product consumes a high level of resources but is allocated low costs per unit.
Bany 9 dnidie CllSE Ganadd iy (K15 3 ) sall (o Gl ja (5 e geital) llginy - ARSI (il
Ex: What is the Overcosted and Underscosted?
Rami Sawsan Maher Rana Total Average

NK¢

Entree  $11 $20 $15 S$14  $60 $15
Dessert 0 8 4 4 16 4
Drinks 4 24 8 6 32 8
Total  S$15 $42 $27 $24 $108 $27

Solution: Overcosted: Ramiand Rana & Underscosted: Sawsan

Cross-subsidization Jaliall asl)
Z If one product is undercosted then at least one other product must be overcosted.
Y1 e AT aiie A3 5aly § o ¢ ilSa e claiall aal S 1Y)
The overcosted product absorbs too much cost, making it seem less profitable than it really is.
Jnilly e 5 Loa Fymg y OBl gy dlnny Lo ¢ IS (o L0 500 30 A4ISH 53 il oty
The undercosted product is left with too little cost, making it seem more profitable than it really is.
rilly ale 58 Laa Tmy) ST g alany Lo ¢ 13 ALIS 2415 24K (addia iiall ol 5 o
Exinpagel A ddaall B N Jls Jdo dass
Let’s say that Job 457 for Product XYZ incurs 1000 DLH in Dept A and 1000 DLH in Dept B; 50 MH in
Dept A and 75 MH in Dept B.
75 5 A aidl) & MH 50 ¢ @ il 8 DLH 1000 3 | peiill 8 DLH 1000 S5 XYZ ziiall 457 Jand) Of i bl
.B audll & MH

N¢<

NK¢

Overhead would be as follows for this job:
Dept A/DLH DeptB/MH  Total Departmental = Single P/W Rate

Departmental Rate:

(2000 *37.5) (75 * 375.00) $65,625
$37,500 $28,125
Plantwide Rate (2000 * $50.00)
based on DLH: $100,000
Plantwide Rate (125 * $384.62)
based on MH: $48,077.50

Ex of Company Plastim simple (traditionally)

Data:

- The Quantity 60,000 S3 lenses and Quantity 15,000 CL5 lenses

- The DM 1,125,000 & $675,000 and DL $600,000 & $195,000 of S3 and CL5, respectively.

- The indirect costs allocated 1,800,000 and $585,000 of S3 and CL5, respectively.

- Plastim has elected to use Direct Manufacturing Labor Hours as the base and estimates 39,750 such
hours

- Our managers have indicated that the DLH budget for the 60,000 S3 lenses is 30,000 hours and
9,750 hours for the 15,000 CL5 lenses, Compute the Indirect Cost Allocated to the Products.
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$60,000 $15,000
Simple lenses (S3) Complex Lenses (CL5)
Total Per Unit Total Per Unit Total
(1) (2) = (1) + 60,000 (3) (4)=(3)+ 15,000 (5)=(1)+(3)

DM $1,125,000 $18.75 $675,000 $45.00 $1,800,000
DL 600,000 10.00 195,000 13.00 795,000
T.DC 1,725,000 28.75 870,000 58.00 2,595,000
IC Allocated 1,800,000 30.00 585,000 39.00 2,385,000
T. Costs $3,525,000 $58.75 $1,455,000 $97.00 $4,980,000

Compute the Rate per Unit of Each Cost-Allocation Base

Budgeted Total Costs in Indirect Cost Pool / Budgeted Total Quantity of the Cost Allocation Base.
$2,385,000 / 39,750 = $60.00 per Direct Mfg Labor Hour

That will allocate overhead as follows:

$3 =30,000 * $60 = $1,800,000

CL5=9,750 * $60 = $585,000

Activity-Based costing, knows as ABC. ABC uses activities as the fundamental cost objects.
Aol 44185 SS Aaiil) ABC padind  ABC assby <o e ¢ Jaldl) (bl o AdlSl)
For example, in your indirect cost pool, you may have expenses related to the purchasing department.
Perhaps the purchasing department incurs expenses in relationship to the number of purchase orders
created, or the number of line items received. That determination and the subsequent use of that
“activity” as the cost driver is how ABC refines our cost systems.
and 2K Lay y 0l jidiall iy Al S lal ) 65 38 ¢ el Aalal) 5 dball e (oS de gana b ¢ Jalf Lo o
"Ll 13g) 3ad Aladiu¥) g aaail) 13a Adiveall 2 gull dac ol ¢ L slas) &5 ) o) pEI el sl aaey (lati i il i)
Lol 461l dalail ity ABC oL 48 oo A8l o a8

Ex of Company Plastim on ABC

Data:

- The Quantity 60,000 S3 lenses and Quantity 15,000 CL5 lenses

- The DM 1,125,000 & $675,000 and DL $600,000 & $195,000 and Direct materials of cleaning
120,000 & 150,000 of S3 and CL5, respectively.

- The Total Budgeted Indirect costs of Design $450,000, Setup of molding machines $300,000,
Machine operations $637,500, Shipment setup $81,000, Distribution $391,500, Administration
$255,000 and Budgeted Quality of cost-allocation Base Design 100 Parts, Setup of molding machines
2,000 hours, Machine operations 12,750, Shipment setup 200, Distribution $67,500, Administration
$39,750

- The table you can help to Calculate Total Costs of ABC

Simple lenses Complex lenses
Design 30 hours 70 hours
Setup of molding machines 500 setup hours 1500 setup hours
Machine operations 9,000 M.Hs 3,750 M.Hs
Shipment setup 100 shipments 100 shipments
Distribution 45,000 cubic feet = 22,500 cubic feet
Administration 30,000 DLHs 9,750 DLHs
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- Solution:
First: Calculate Avg Activities of

Design

Setup of molding machines
Machine operations
Shipment setup
Distribution
Administration

CH5 - ACCT335 (COST) yasili

indirect cost

T.B.IC(1) B.Q.C.ABase (2)

$450,000 100
$300,000 2,000
$637,500 12,750
$ 81,000 200
$391,500 67,500
$255,000 39,750

Second: Calculate T. Cost of ABC

$60,000

Simple lenses (S3)

Total
(1)

DM $1,125,000
DL 600,000
DM_C 120,000
T.DC 1,845,000
I.C Activities

Design* 135,000
Setup. Mm** 75,000
Machine's. o*** 450,000
Shipment setup* 40,500
Distribution ** 261,000
Administration*** 192,453
T.I.C allocated 1,153,953
T. Costs $2,998,953

* Design of S3 = 30 * $4,500 = $135,000, and Design of CL5= 70 * $4,500 = 315,000

** Setup of molding machines of S3= 500 * 150 = $75,000 and of CL5= 1,500 * 150 = 225,000
*** Machine operations of S3 = 9,000 * 50 = 450,000 and of CL5= 3,750 * 50 = $187,500

* Shipment setup of S3 = 100 * 405 = 40,500 and of CL5= 100 * 405 = 40,500

** Distribution of S3 = 45,000 * 5.80 = 261,000 and of CL5= 22,500 * 5.80 = 130,500

*** Administration of S3 = 30,000 * 6.4151 = 192,453 and of CL5=9,750 * 6.4151 = 62,547

Per Unit
(2) = (1) + 60,000
$18.75
10.00
2.00
30.75

2.25
1.25
7.50
0.67
4.35
3.21

19.23
$49.98

$4,500
$ 150
$ 50
$ 405
$ 5.80
$6.4151
$15,000
Complex Lenses (CL5)
Total Per Unit Total
(3) (4)=(3)+15,000 (5)=(1)+(3)
$675,000 $45.00 $1,800,000
195,000 13.00 795,000
150,000 10.00 270,000
1,020,000 68.00 2,865,000
315,000 21.00 450,000
225,000 15.00 300,000
187,500 12.50 637,500
40,500 2.70 81,000
130,500 8.70 391,500
62,547 4.17 255,000
961,047 64.07 2,115,000
$1,981,047 $132.07 $4,980,000

Simple and ABC Compared  338aall g dased) 48, Jlal) ¢y 45 )84
Differences= ABC system — Simple Costing

Ex: of total cost of direct cost of simple = $2,595,000, and total cost of direct cost of ABC system =

$2,865,000. What are the differences?

Solution:

Differences= ABC system — Simple Costing = 2,865,000 — 2,595,000 = $270,000

B.I.C Rate (3) = (1) + (2)
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Z Each method is mathematically correct. Lol ) dama ddy jh (S
Z Each method is acceptable. A g 48,00 <
7 Each method yields a different cost figure, which will lead to different gross margin calculations

which may lead to differences in other decisions such as pricing.
d)&mbeﬂ\@&lﬁ)&i\é)ggﬁﬁ%&guéj&u agu;‘;}ggayLM‘gqhsAmeéjfﬁudeﬁp@@
Z Only overhead is involved. Total costs for the entire firm remain the same—they are just allocated
differently to the cost objects within the firm.
G jalinl i Calise (S Lpempadd ol Cum - b LS LeleSh 4S80 llen ) ol Qi Aalall ol Lo o jLis
A, Jal
7 Selection of the appropriate method and drivers should be based on experience, industry practices,
as well as a cost-benefit analysis of each option under consideration.
a8 LA JS) ailall 5 48K s e Slmd ¢ delivall il jlaa g 5 al) e dulial) ad gall 5 48 Ll SLAA) adiey of oy
Al )

ABC vs. Simple Costing Schemes
Z ABCis generally perceived to produce superior costing figures due to the use of multiple drivers
across multiple levels.
Badaie Ol e e Badeie S jae aladiiul Cany o 28S5 66 i i Ll Lo s gee ABC () Lkt
Z ABCisonly as good as the drivers selected, and their actual relationship to costs. Poorly chosen
drivers will produce inaccurate costs, even with ABC.
Gl e S 3l Jaadil) el e il Cogn  CISEIL Aladl) Le8dle 5 ¢ B laall Jpandil) el Jie Jadd 3an ABC
ABC o (i « A8dy e
Z Using ABC does not guarantee more accurate costs!

1483 Jis) s candas Y ABC aladin
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Additional Question 4élay) ALy

Q1: Circle the correct answer

1. If products are different, then for costing purposes:
a. an ABC costing system will yield more accurate cost numbers
b. asimple costing system should be used
c. asingle indirect-cost rate should be used
d. none of the above
2. Overcosting a particular product may result in:
a. loss of market share
b. pricing the product too low
c. operating efficiencies
d. understating total product costs
3. A company produces three products; if one product is overcosted then:
a. one product is undercosted
b. one or two products are undercosted
c. two products are undercosted
d. no products are undercosted
4. Misleading cost numbers are most likely the result of misallocating:
a. direct material costs
b. direct manufacturing labor costs
c. indirect costs
d. All of these answers are correct
5. The use of a single indirect-cost rate is more likely to:
a. undercost high-volume simple products
b. undercost low-volume complex products
c. undercost lower-priced products
d. Both Band C are correct.
6. Uniformly assigning the costs of resources to cost objects when those resources are actually used
in a nonuniform way is called:
a. overcosting
b. undercosting
c. peanut-butter costing
d. department costing
7. Refining a cost system includes:
a. classifying as many costs as indirect costs as is feasible
b. creating as many cost pools as possible
c. identifying the activities involved in a process
d. seeking a lesser level of detail
8. ABC systems create:
A) one large cost pool
B) homogenous activity-related cost pools
C) activity-cost pools with a broad focus
D) activity-cost pools containing many direct costs
|Page6
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9. ABCsystems:
a. highlight the different levels of activities
b. limit cost drivers to units of output
c. allocate costs based on the overall level of activity
d. generally, undercost complex products

10. Traditional cost systems distort product costs because:
a. they do not know how to identify the appropriate units
b. competitive pricing is ignored
c. they emphasize financial accounting requirements
d. they apply average support costs to each unit of product

Answer the following questions using the information below:
Mertens Company provides the following ABC costing information:

Activities Total Costs = Activity-cost drivers
Account inquiry hours $200,000 10,000 hours
Account billing lines $140,000 4,000,000 lines
Account verification accounts $75,000 40,000 accounts
Correspondence letters S 25,000 4,000 letters
Total costs $440,000
The above activities are used by Departments A and B as follows:
Department A Department B
Account inquiry hours 2,000 hours 4,000 hours
Account billing lines 400,000 lines 200,000 lines
Account verification accounts 10,000 accounts 8,000 accounts
Correspondence letters 1,000 letters 1,600 letters
11. How much of the account inquiry cost will be assigned to Department A?
a. $40,000
b. $200,000
c. $80,000

d. None of these answers are correct.
Explanation: A) ($200,000 / 10,000) x 2,000 = $40,000

12. How much of the account billing cost will be assigned to Department B?
a. $14,000
b. $140,000
c. $7,000
d. None of these answers are correct.
Explanation: C) ($140,000 / 4,000,000) x 200,000 = $7,000

13. How much of account verification costs will be assigned to Department A?
a. $15,000

b. $18,750
c. $75,000
d. $5,000

Explanation: B) (575,000 / 40,000) x 10,000 = $18,750
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14. How much of correspondence costs will be assigned to Department B?
a. $800
b. $6,250
c. $25,000
d. $10,000
Explanation: D) (525,000 / 4,000) x 1,600 = $10,000

15. How much of the total costs will be assigned to Department A?

a. $79,000

b. $40,000

c. $112,000

d. $440,000
Explanation: A) (200,000 / 10,000) x 2,000 = $40,000 / (5140,000 / 4,000,000) x 400,000 = $14,000
(575,000 / 40,000) x 10,000 = $18,750 / (525,000 / 4,000) x 1,000 = $6,250 = $79,000

16. How much of the total costs will be assigned to Department B?

a. $79,000

b. $40,000

c. $112,000

d. $440,000
Explanation: C) ($200,000 / 10,000) x 4,000 = $ 80,000 / (5140,000 / 4,000,000) x 200,000 = $ 7,000
(575,000 / 40,000) x 8,000 = $ 15,000 / (525,000 / 4,000) x 1,600 = $ 10,000 = $112,000

17. Dalrymple Company produces a special spray nozzle. The budgeted indirect total cost of inserting
the spray nozzle is $80,000. The budgeted number of nozzles to be inserted is 40,000. What is the
budgeted indirect cost allocation rate for this activity?

a. $0.50
b. $1.00
c. $1.50
d. $2.00
Explanation: D) $80,000 / 40,000 = $2.00

18. The most likely example of an output unit-level cost is:
a. general administrative costs
b. paying suppliers for orders received
C. engineering costs
d. machine depreciation

19. The most likely example of a batch-level cost is:
a. utility costs
b. machine repairs
c. product-designing costs
d. setup costs

20. Design costs are an example of:
a. unit-level costs
b. batch-level costs
c. product-sustaining costs
d. facility-sustaining costs
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21. costs support the organization as a whole.
a. Unit-level
b. Batch-level
c. Product-sustaining
d. Facility-sustaining

22. With traditional costing systems, products manufactured in small batches and in small annual
volumes may be because batch-related and product-sustaining costs are assigned using
unit related drivers.

a. overcosted
b. fairly costed
c. undercosted
d. ignored

Answer the following questions using the information below:

Products S5 and CP8 each are assigned $100.00 in indirect costs by a traditional costing system. An
activity analysis revealed that although production requirements are identical, S5 requires 45 minutes
less setup time than CP8.

23. According to an ABC system, CP8 is under the traditional system.
a. undercosted
b. overcosted
c. fairly costed
d. accurately costed

24. According to an ABC system, S5 uses a disproportionately:
a. smaller amount of unit-level costs
b. larger amount of unit-level costs
c. smaller amount of batch-level costs

d. larger amount of batch-level costs

25. ABC systems identify costs used by products.
a. all b. short-term fixed c. short-term variable d. long-term fixed

Q2: Indicate whether each of the following statements is true or false.

False 1. If companies increase market share in a given product line because their reported costs are
less than their actual costs, they will become more profitable in the long run.

True 2. A top-selling product might actually result in losses for the company.

True 3. Direct costs plus indirect costs equal total costs.

False 4. Indirect labor and distribution costs would most likely be in the same activity-cost pool.

True 5. The primary costs of an ABC system are the measurements necessary to implement the
system.

Q3: For each of the following activities identify an appropriate activity-cost driver.
machine maintenance

machine setup

quality control

material ordering

production scheduling

warehouse expense

engineering design

N
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Answer: Any one of the listed cost drivers is correct.

Activity
Machine # Of machines  Machine hours = Actual times for various maintenances of various
Maintenance machines
Machine Setup # Of setups Setup hours Actual times for various setups for various machines
Quality Control # of Inspection Actual times for various inspections for various
inspections hours controls
Material Ordering # of orders Ordering Actual times for various orders for various materials
hours
Production # of runs Scheduling Actual times for various runs for various schedules
Scheduling hours
Warehousing # of bins, aisles ' Picking hours Actual times for various parts for various warehousing
activities
Engineering Design # of engineers | Engineering Actual times for various engineering designs
# of designs hours

Q4: Rachel's Pet Supply Corporation manufactures two models of grooming stations, a
standard and a deluxe model. The following activity and cost information has been compiled:

Product Number of Setups Number of Number of Direct Labor
Components Hours

Standard 3 30 650

Deluxe 7 50 150

Overhead costs $40,000 $120,000

Assume a traditional costing system applies the $160,000 of overhead costs based on direct labor
hours.

a. What is the total amount of overhead costs assigned to the standard model?

b. What is the total amount of overhead costs assigned to the deluxe model?

Assume an activity-based costing system is used and that the number of setups and the number of
components are identified as the activity-cost drivers for overhead.

c. What is the total amount of overhead costs assigned to the standard model?

d. What is the total amount of overhead costs assigned to the deluxe model?

Answer:

a. [$160,000/ (650 + 150)] x 650 = $130,000

b. [$160,000/ (650 + 150)] x 150 = $30,000

c. Setups: $40,000 /(3 + 7) = $4,000 Components: $120,000 / (30 + 50) = $1,500 ($4,000 x 3) + ($1,500
x 30) = $57,000

d. ($4,000 x 7) + ($1,500 x 50) = $103,000

END OF CHAPTER 5

|Pagel0

1 L~

S-HUBcom Uploaded By anonymous



CHAPTER 9

Inventory Costing
and Capacity
Analysis

STUDENTS-HUB.com Uploaded By: anonymous



CH9 - ACCT335 (COST) uasili

a Gl slua

Inventory Costing Choices: (s -l 44l i LA

Z Variable costing—a method of inventory costing in which all variable manufacturing costs (direct
and indirect) are included as inventoriable costs. (Also known as direct costing) — Internal reporting

to management.

I (5l e 55 pblall) B el ariaill CallSS auan (el L aly () 5 el A8SE il 43 )l - B pdal) 4Gt
BOIDU AR Ay ) slae) - (3 _pdilaall AESE anly Uiyl o ya) Lo jall AL

Absorption costing—a method of inventory costing in which all variable and fixed manufacturing

costs are included as inventoriable costs. You can say that inventory “absorbs” all manufacturing

N¢

costs. Required for external financial reporting.

ey 2 pall ALIS SIS A 5 5 il gl RIS ey L oy (5 Sl A4S i) gl - aluctia) LSS
Ao )l Iy lEl slae Y sl iatl) CllSS aen " Gaile G 3l o U

Income Statements under A.C and V.C

VARIABLE COSTING APSORPTION COSTING
Sales SXXXX Sales Sxxxx
less: Variable C.G.S XXXX less: C.G.S XXXX
Variable marketing costs XXXX Gross profit $XXXX
Contribution margin SX000¢ Less: Variable marketing costs ~ xxxx
less: Fixed manufacturing costs XXXX Fixed marketing costs XXXX
Fixed marketing costs XXXX Operating income $XXXX
Operating income SXXXX
Inventory costing: Differences in Income ~ Jaall (& (341 1¢yg 58l AQLSH
7 Operating income will differ between absorption and variable costing.
B_padial) 28Il 5 paliata¥) g Jadall JAal) calisg.,
Z The amount of the difference represents the amount of fixed manufacturing costs capitalized as
inventory under absorption costing and expensed as a period cost under variable costing.
Al a2 5 53S iy jlmall y aliaio¥) A8 s @i (5 58S Alans yal) A5G woiaill CollS alia G3Lal alia Jiag
Byl
Z If inventory levels change, operating income will differ between the two methods because of the
difference in accounting for fixed manufacturing costs.
AR gl Ca S Alaa 8 CIOUAY) sy Gy ylall Ll JAal Calit ¢ 5 3a) il e &y 13
Example
2017 2018
Units produced 8,000 units 8,000 units
Beginning inventory 0 2,000 units
Units sold 6,000 units 10,000 units
Ending inventory 2,000 units 0
ACTUAL PRICE AND COST DATA FOR 2017 & 2018
Selling Price S 1,000
Variable manufacturing cost per unit:
Direct materials cost per unit S 110
Direct manufacturing labor cost per unit 40
Manufacturing overhead cost per unit 50
Total Variable manufacturing cost per unit S 200
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Variable marketing cost per unit sold S 185
Fixed manufacturing costs (all indirect) $1,080,000
Fixed marketing costs (all indirect) $1,380,000

Based on the preceding information, costs per unit under the two inventory costing methods are as
follows: )
terd LS (0 g i) AR il 1y E) ylal 88 5 Baa ol) LS (0 9S0 ¢ ABLd) e glaadl o 2L

Variable Costing Absorption Costing
V.C per unit produced
DM $110 $110
DL 40 40
Manufacturing OH 50 50
Fixed cost per unit produced - 135*
Total inventoriable cost per unit produced $200 $335
*(1080,000/8,000) = $135
Income Statements under A.C and V.C for 2017 Income Statements under A.C and V.C for 2018
2017 2018
APSORPTION COSTING APSORPTION COSTING
Sales $6,000,000 Sales $10,000,000
less: C.G.S 2,010,000 less: C.G.S 3,350,000
Gross profit $3,990,000 Gross profit $6,650,000
Less: Variable marketing costs 1,110,000 less: Variable marketing costs 1,850,000
Fixed marketing costs 1,380,000 Fixed marketing costs 1,380,000
Operating income $1,500,000 Operating income $3,420,000
VARIABLE COSTING VARIABLE COSTING
Sales $6,000,000 Sales $10,000,000
less: Variable C.G.S 1,200,000 less: Variable C.G.S 2,000,000
Variable marketing costs = 1,110,000 Variable marketing costs 1,850,000
Contribution margin $3,690,000 Contribution margin $6,150,000
less: Fixed manufacturing 1,080,000 less: Fixed manufacturing 1,080,000
costs costs
Fixed marketing costs 1,380,000 Fixed marketing costs 1,380,000
Operating income $1,230,000 Operating income $3,690,000

Comparing Variable Costing and Absorption costing ~ oabaiay) 48l g 5 aial) AR 45 )84
Variable Costing Absorption Costing

Are fixed OH inventoried? No Yes
How do changes in unit inventory levels affect
operating income?

Production = Sales Equal Equal
Production higher than Sales Lower Higher
Production lower than Sales Higher Lower
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Additional Question 4élay) ALy

Q1: Circle the correct answer

1. Which of the following cost(s) are inventoried when using variable costing?
a. direct manufacturing costs
b. variable marketing costs
c. fixed manufacturing costs
d. Both Aand B are correct.
2. Which of the following cost(s) are inventoried when using absorption costing?
a. direct manufacturing costs
b. variable marketing costs
c. fixed manufacturing costs
d. Both A and C are correct.
3. is a method of inventory costing in which all variable manufacturing costs (direct and
indirect) are included as inventoriable costs and all fixed manufacturing costs are excluded.
a. Variable costing
b. Mixed costing
c. Absorption costing
d. Standard costing
4. Absorption costing:
a. expenses marketing costs as cost of goods sold
b. treats direct manufacturing costs as a period cost
c. includes fixed manufacturing overhead as an inventoriable cost
d. isrequired for internal reports to managers
5. Variable costing:
a. expenses administrative costs as cost of goods sold
b. treats direct manufacturing costs as a product cost
c. includes fixed manufacturing overhead as an inventoriable cost
d. isrequired for external reporting to shareholders
6. method(s) include(s) fixed manufacturing overhead costs as inventoriable costs.
a. Variable costing
b. Absorption costing
c. Throughput costing
d. All of these answers are correct.
7. is a method of inventory costing in which only variable manufacturing costs are included
as inventoriable costs.
a. Fixed costing
b. Variable costing
c. Absorption costing
d. Mixed costing
8. The only difference between variable and absorption costing is the expensing of:
a. direct manufacturing costs
b. variable marketing costs
c. fixed manufacturing costs
d. Both Aand C are correct
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Answer the following questions using the information below:

Kory's Auto produces and sells an auto part for $60.00 per unit. In 2011, 100,000 parts were produced

and 75,000 units were sold. Other information for the year includes:

Direct materials $24.00 per unit
Direct manufacturing labor S 4.50 per unit
Variable manufacturing costs S 1.50 per unit
Sales commissions $ 6.00 per part
Fixed manufacturing costs $750,000 per year

Administrative expenses, all fixed $270,000 per year

9. What is the inventoriable cost per unit using variable costing?

a. $28.50
b. $30.00
c. $36.00
d. $43.50

Explanation: B) $24.00 + $4.50 + $1.50 = $30.00

10. What is the inventoriable cost per unit using absorption costing?

a. $30.00
b. $36.00
c. $37.50
d. $43.50

Explanation: C) $24.00 + $4.50 + $1.50 + ($750,000 / 100,000) = $37.50

END OF CHAPTER 9
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Allocating Costs of a Supporting Department to Operating Departments
Jadil) aludY acal) and CAST Jauads
Z How acompany allocates its overhead and internal support costs — costs related to marketing,
advertising and other internal services —among its various production departments or projects can
have a big impact on how profitable those departments or projects are.
A0alal) cilexall g le Y s (g smsilly Ailaiall oISl - JAIA) aeall CaSS 5 dalal) Lgilainl 4S5l Ganads L3S] G S of oS
bl ALY el Ay ) e o Sl Adlisa) g jLial) f L) Aludl o - 6 ,AY)
Operating (production) department—directly adds value to a product or service.
At e 550 Aad i - (EUERYI) S
Support (service) department—provides the services that assist other internal departments

(operating departments and other support departments) in the company.
S A (AN acall aladl g dlasil) < ey o, AR HLaY) el G Clerdl) o - (Ladill) asdll aud

N¢

N¢

Methods of Allocating Support Costs to Production Departments
U aludY ac ) QIS (auadl 3k
1. Direct-allocates support-department costs directly to operating departments.
il il 5 e peall a (S35 e ana
2. Step-down-partially allocates support-department costs to other support departments.
G AY acall @l oY acall and (oIS e il ) 7ol Ganady
3. Reciprocal-fully allocates support-department costs to other support departments.
LAY acall Iy acall 5y CallSs JalSIl Jaliie JS5 Ganady
Ay b JS a6
1. Direct-allocates support-department costs directly to operating departments.
support-department =s .... Operating (production) department = P1
S1 mmm) P1,P2
2 =mmmm) P1,P2

2. Step-down-partially allocates support-department costs to other support departments.

S2 mmmm) S1,P1,P2
S1 mmm) pq, P2
3. Reciprocal-fully allocates support-department costs to other support departments.
S1 =) S2,P1,P2
S2 =) S1,P1,P2

Direct Method 5 i) 44, i)
Z Allocates support costs only to operating departments. Jurdil) HLdY Lash acall CallSS aady

Z Direct method does not allocate support-department costs to other support departments.
LAY acall il yIaY acall aud Call<s 5 yilaall 48y yhal) (aiads Y

Step-Down Method dJiul ) il 48y 3k
Z Also called the sequential allocation method Jualuiiall (apadil) 45 yla Wayl aus
Z Allocates support-department costs to other support departments and to operating
departments in a sequential manner that partially recognizes the mutual services provided
among all support departments.
Ot Aeaiall Aalital culaaally B e o et Alududia Ay phay Jundal) &l laY 5 5 AY) acdll &l oy acall and CallSS aady
el 1) g
Z Begins with the support department that provides the highest % of its services to other support
departments.

G AY aeall AludY ailerd e ds el adhy 31 ac ) anddy o,
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Reciprocal Method 4:alill / Jaill 44y jh
7 Allocates support-department costs to operating departments by fully recognizing the mutual
services provided among all support departments.
e ) aes (g Aesiall Alalgiall ileaally JalS Gl eV A e Jusndill) Sy acall and CadISH Gacady
Z Reciprocal method fully incorporates interdepartmental relationships into the support-
department cost allocation.
ool and 4GS anadd b JalS IS <l 1Y) G i) 0 38 ) e
7 Also known as the matrix method. 4 i) 24 Hla sy Lol o pad

Overview of Methods  (akl o dale 3 ki
7z Differences among the three methods’ allocations increase as the magnitude of the reciprocal
allocations increases and as the differences across operating departments’ usage of each
support department’s services increase.
& Jaadall <l Hla) G ClaBEAY) 3L ) aae g Aaliall Clbiaiadall aaa 334 ) ae SOBN (3 k]l llanadd (55 4l 2 3
2 and JS Ciladd aladiul
Reciprocal is conceptually the most precise because it considers the mutual services provided
among all support departments.

Ac) ) aes (g dasiall Alaliiall laaal) Hlie W) 6 2k Y Lnealid) aldl) e dy Y s o) ey
Direct and step-down are simple to compute and understand. pedll g Qloall Jes il 5 bl
Direct method is widely used but as computing power to perform repeated iterations increases,
more companies find the reciprocal method easier to implement.

O SIS e 3 5l 293 ¢ 5y S8 1S el Y sl 558 53 e (S5 el s (3 e 5 bl Ay ) pasid
Al g 200l 23 5L

N¢<

N¢ N

Ex: Data Used in Cost Allocation
SUPPORT DEPARTMENTS = PROUCTION DEPARTMENTS

Engineering and = Materials Machining Assembly
Production Management
control (E&P) (MM)
Budgeted OH costs $300,000 $264,000 $329,000 $227,000
Support work provided:
By E&P Percentage - 30% 50% 20%
By MM Percentage 10% - 20% 70%

1. Direct Allocation Method

SUPPORT DEPARTMENTS PROUCTION DEPARTMENTS
Engineering and Materials Machining Assembly
Production Management
control (E&P) (MM)

Budgeted OH costs $300,000 $264,000 $329,000 $227,000
Allocation of E&P (300,000) 214,286* 85,714
Allocation of MM (264,000) 58,667** 205,333
Total budgeted OH of S0 S0 $601953 $518047
operating (production)

departments

* 214,286 = 300,000 *50/70
** 58,667 = 264,000 * 20/90
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2. Step-Down Allocation Method
SUPPORT DEPARTMENTS PROUCTION DEPARTMENTS
Engineering and Materials Machining Assembly
Production control Management (MM)
(E&P)
Budgeted OH costs $300,000 $264,000 $329,000 $227,000
Allocation of E&P (300,000) 90,000 150,000* 60,000
Allocation of MM $354,000 78,667**
(354,000) _275,333
Total budgeted OH of operating = $0 SO $557,667 $562,333

(production) departments
* $150,000 = 300,000 *50%
** $78,667 = 354,000 * 20/90

Additional Question 4:iLaY) dLiuy)
Q1.: Circle the correct answer
1. The support department allocation method that is the most widely used because of its simplicity
is the:
a. step-down method
b. reciprocal allocation method
c. direct allocation method
d. sequential allocation method

2. The method that allocates costs by explicitly including all the services rendered among all support
departments is the:
a. direct method
b. step-down method
c. reciprocal method
d. sequential method

3. Under which allocation method are one-way reciprocal support services recognized?
a. direct method
b. artificial cost method
c. reciprocal method
d. step-down method

4. The direct allocation method:
a. partially recognizes the services provided among support departments
b. isalso referred to as the sequential method
c. is conceptually the most precise method
d. results in allocating only the support costs used by operating departments

5. The step-down allocation method:
a. typically begins with the support department that provides the highest percentage of its total
services to other support departments
b. recognizes the total amount of services that support departments provide to each other
allocates complete reciprocated costs
d. offers key input for outsourcing decisions

o
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6. The reciprocal allocation method:
a. isthe most widely used because of its simplicity
b. requires the ranking of support departments in the order that the allocation is to proceed
c. is conceptually the most precise
d. results in allocating more support costs to operating departments than actually incurred

7. Complete reciprocated costs:
a. are less than the support department's own costs
b. include the support department's costs plus any interdepartmental cost allocations
c. are used for step-down allocations
d. are also referred to as budgeted costs

Q2: E-books, an online book retailer, has two operating departments— corporate sales and
consumer sales—and two support departments—human resources and information systems.
Each sales department conducts merchandising and marketing operations independently. E-
books uses number of employees to allocate human resources costs and processing time to
allocate information systems costs. The following data are available for September 2013:

SUPPORT PROUCTION
DEPARTMENTS DEPARTMENTS
Human Information Corporate Consumer
Resources Systems Sales Sales
Budgeted costs incurred before any
interdepartmental cost allocations $72,700 $234,400 $998,270 | $489,860
Support work supplied by human resources department
Budgeted number of employees - 21 42 28
Support work supplied by information systems department
Budgeted processing time (in minutes) 320 @ - 1,920 1,600

1. Allocate the support departments’ costs to the operating departments using the direct method.

2. Rank the support departments based on the percentage of their services provided to other support
departments. Use this ranking to allocate the support departments’ costs to the operating
departments based on the step-down method.

1.
Support Departments  Operating Departments
HR Info. Systems Corporate Consumer Total

Costs Incurred $72,700 $234,400 $ 998,270 $489,860  $1,795,230
Alloc. of HR costs

(42170, 28/70) (72,700) 43,620 29,080
Alloc. of Info. Syst. costs

(1,920/3,520, 1,600/3,520) (234,400) 127,855 106,545

$ 0 % 0 $1,169,745 $625485  $1,795,230
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2. Rank on percentage of services rendered to other support departments.
Step 1: HR provides 23.077% of its services to information systems:

21 721

42 +28 +21 _ 91 = 23.077%
This 23.077% of $72,700 HR department costs is $16,777.

Step 2: Information systems provides 8.333% of its services to HR:

320 320
1,920 + 1,600 + 320 _ 3,840 _ g 3330

This 8.333% of $234,400 information systems department costs is $19,533.

Support Departments  Operating Departments

HR Info. Systems Corporate Consumer Total
Costs Incurred $72,700  $234,400 $ 998,270 $489,860  $1,795,230
Alloc. of HR costs
(21/91, 42/91, 28/91) (72,700) _ 16,777 33,554 22,369

$ 0 251177
Alloc. of Info. Syst. costs
(1,920/3,520, 1,600/3,520) (251,177) 137,006 114,171
$ 0 $1,168,830 $626,400  $1,795,230

END OF CHAPTER 15
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